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Question Number : 1 Question Id : 97675532089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
BI1R, Y40, VOL, S161, ?

Options :
1. ®* Q36G
2. % R27H
3. ¥ P25F
4. % S281

Question Number : 1 Question Id : 97675532089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

T 3fIepd fear T 8, fod @ o ue g ¢ | iU U fawed! & 3§ 98 Wgt fadwed gi-g, St 3igehd &l [T |

B1R, Y40, V9L, S161, ?
Options :

1. ®* Q36G

2. % R27H

3. ¥ P25F

4. % S281

Question Number : 2 Question Id : 97675532090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
CF11, EH15, GJ19, 1L.23, ?

Options :

1. ¥ KN29
2. % NK32
3. % KJ27
4, ¥ KN27

Question Number : 2 Question Id : 97675532090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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CF11, EH15, GJ19, IL23, ?
Options :

1. = KN29

2. % NK32

3. % KJ27

4, ¥ KN27

Question Number : 3 Question Id : 97675532091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
LP20, 1142, FB86, CU174, ?

Options :

1. ¥ ZN350
2. % ZM350
3. % YN348
4, % 7P348

Question Number : 3 Question Id : 97675532091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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LP20, 1142, FB&86, CU174, ?
Options :

1. ¥ ZN350

2. % ZM350

3. % YN348

4. % 7P348

Question Number : 4 Question Id : 97675532092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A series is given with one term wrong. Select that wrong term from the given alternatives.
OHBX, LDWR, IZRL, FVME, CRHZ

Options :

1. ¥ LDWR
2. ¥ FVME
3. ¥ CRHZ
4. ¥ 1ZRL



Question Number : 4 Question Id : 97675532092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3fIepd fear T 8, Fo s 9§t e 7Tad ¢ | fau 7 faswed § ¥ 39 7ad ue &1 gi-u|

OHBX, LDWR, IZRL, FVME, CRHZ
Options :

1. * LDWR

2. ¥ FVME

3. % CRHZ

4. % IZRL

Question Number : 5 Question Id : 97675532093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the related letters from the given alternatives.
PRO : OQN :: GAP : ?

Options :

1. ® EZO

2. ¥ FZ0

3. ®* FYP

4. % EYO

Question Number : 5 Question Id : 97675532093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafaRad vy @ fou e fomedl O @ Tefia sierl & gl
PRO : OQN :: GAP : ?

Options :

1. * EZO

2. ¥ FZO

3. % FYP

4. % EYO



Question Number : 6 Question Id : 97675532094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the related letter pair from the given alternatives.
TL:BI::?

Options :

1. % FG:MD
2. % MK : UN
3. % AJ:GG
4. ¥ DN : LK

Question Number : 6 Question Id : 97675532094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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TL:BI::?
Options :

1. % FG: MD
2. % MK : UN
3. % AJ:GG
4. ¥ DN : LK

Question Number : 7 Question Id : 97675532095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the related letter pair from the given alternatives.
PNG:JPO :: ?

Options :

1. ®* TPM : MRU

2. % AKR : UMY

3. ¥ BMC: VOK

4. % DOG:YQO



Question Number : 7 Question Id : 97675532095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad vy & foT 77T fowedl § 9 e sfeR g &1 gHu|
PNG:JPO :: ?

Options :

1. % TPM : MRU

2. % AKR : UMY

3. ¥ BMC : VOK

4. % DOG:YQO

Question Number : 8 Question Id : 97675532096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the related letter pair from the given alternatives.
TOG : MU :: ?

Options :

1. ®* GMA : DKF

2. ¥ LOR : UMM

3. ¥ PIN: PGQ

4. % FAM : QXG

Question Number : 8 Question Id : 97675532096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraforiaa uy & fou 7o fawedl & @ Waifta sier g 1 gfu|
TOG : IMU :: ?

Options :

1. ¥ GMA : DKF

2. % LOR : UMM

3. % PIN : PGQ



4. % FAM : QXG

Question Number : 9 Question Id : 97675532097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘PROFIT’ is written as ‘QFCLOM’, ‘RANDOM’ is written as ‘JLAKXO’. What is the code for ‘SCRIPT’ in that
code language?

Options :

1. % QMGOZP
2. % QFMOZP
3. ¥ QMFOYQ
4. ¥ QMFOZP

Question Number : 9 Question Id : 97675532097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U fAfRIY B8 HIWT H, ‘PROFIT’ &l “QFCLOM’ forRaT SITdT 8, ‘RANDOM’ & <JLAKXO® orRal STl 8 1 39 I8 HIWT H ‘SCRIPT® BT HIS
FTZ?

Options :

1. ¥ QMGOZP

2. % QFMOZP

3. ¥ QMFOYQ

4. ¥ QMFOZP

Question Number : 10 Question Id : 97675532098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘Cat Dogs Monkey Bat’ is written as ‘8 5 3 9°, ‘Monkey Cow Fish Dogs’ is written as ‘9 6 8 2°, ‘Hen Peacock Dogs
Duck’ is written as ‘8 7 1 4°, ‘Cat Bat Fish Hen’ is written as ‘1 3 2 5°. What is the code for ‘Monkey Cow Bat’ in that code language?

Options :
1.%968
29965



3. % 865
4. %958

Question Number : 10 Question Id : 97675532098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Wﬁmm 'J-ﬂtﬂﬁ, ‘Cat Dogs Monkey Bat’ DI8539 ﬁ‘IETGlT?‘IT%, ‘Monkey Cow Fish Dogs’ BH9682 ﬁ”l"@T\_IIT?‘IT%, ‘Hen Peacock
Dogs Duck’ P 8714 %I@T\_ﬂ'l?ﬂ%, ‘Cats Bat Fish Hen’ 11325’ ﬁ'IET\_ﬁﬂ?IT%I sﬂaﬁg yToT H ‘Monkey Cow Bat’ WWW%‘7
Options :

1. % 968

2.9965

3.% 865

4. %958

Question Number : 11 Question Id : 97675532099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘Up Down Over Above’ is written as ‘8 2 4 9°, ‘Round Till Down Along’ is written as ‘5 7 2 6°, ‘Via Over Along
Below’ is written as ‘6 3 4 1°, ‘Up Below Till Before’ is written as ‘3 5 8 0°. What is the code for ‘Till Over Below’ in that code language?

Options :
l.* 546
2.% 593
3.543
4. %763

Question Number : 11 Question Id : 97675532099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uh ﬁﬁmm ‘J-I'I'Glef, ‘Up Down Over Above’ P18 2 4 9 foraT ST %, ‘Round Till Down Along’ &l 5726 forar Gﬂ?ﬂ%, ‘Via Over Along
Below’ 31 6 3 4 1’ foRaT SITAT B, “Up Below Till Before” &1 3 5 8 07 foRaT ST € 1 39 1S HTWT H “Till Over Below’ &1 HIS &1 82

Options :

1. % 546



2.%593
3.543
4. %763

Question Number : 12 Question Id : 97675532100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘DIRT’ is written as ‘—25°, ‘FAME’ is written as ‘—11’. What is the code for ‘LIFT’ in that code language?
Options :

1. % 4

2.¥ -5

3.% 7

4. % -2

Question Number : 12 Question Id : 97675532100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U fAfY B W & DIRT’ &Y <—25° foRAT ST 8, ‘FAME’ 1 —11° foRaT ST § 1 9 IS HIWT § ‘LIFT’ T i T 82
Options :

1. * 4

2.9 -5

3.% 7

4. % 2

Question Number : 13 Question Id : 97675532101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘ARCH’ is written as ‘120°, ‘BENT” is written as ‘164’. What is the code for ‘FLEW’ in that code language?
Options :

1. % 142

2. % 236

3. % 298



4.4 184

Question Number : 13 Question Id : 97675532101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T ARy HIs W &, ARCH® &1 <120’ RRATSIAT 8, ‘BENT’ &l 164’ oRAT ST 81 39 IS HIWT H ‘FLEW’ T IS T 82
Options :

1. % 142

2. % 236

3. % 298

4. ¥ 184

Question Number : 14 Question Id : 97675532102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Height of 6 boys A, K, M, R, S and T is compared. Height of no two boys is same. Height of K is less than only three boys but more than R and
A. Height of T is more than M but less than S.
Height of how many boys is more than the height of R?

Options :
1. % 4
2.% 3
3.%5
4. ¥ 4or5

Question Number : 14 Question Id : 97675532102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

6 ASHI A, K, M, R, S TUT T B ST B! ga-T &I T 81 g off &l TSh! 1 Gdls THM el & | K Bl SHdTs had diF ded! 9 &9 §
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Options :

1. % 4




2. %3
3.%5
4.9 4715

Question Number : 15 Question Id : 97675532103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R is the mother of G. K is the brother of L. T is the only daughter of P and G. F is the only daughter of R and K.
Which of the following statement(s) is/are correct?

I. G is the mother of T

II. R is the mother in law of P

III. L is the aunt of F

Options :

1. ¥ Only II

2. % Il and III
3. % I, I and III
4. % Only IIT

Question Number : 15 Question Id : 97675532103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R,GHIAMIZI K, LBTHS g T, P AT G B! UHHH Tt 8| F, R IUT K B! THHE T g
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Options :

1. ¢ $Had II

2. % (13U

3. % 11T

4. % Had I



Question Number : 16 Question Id : 97675532104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Five boys A, B, C, D and E likes one book among B1, B2, B3, B4 and B5 (not necessarily in the same order). They also like one pen among P1,
P2, P3, P4 and P5 (not necessarily in the same order). No tow boys like same book and same pen. B likes P3 and B1. A don’t like B4 and B2. C
likes a odd numbered pen. A don’t like book having odd number more than 3. One who likes B2 also likes P5. One who likes B4 also likes P4.
If C does not like even numbered book, then which of the following statements are correct?

I. A likes P2 and B3

II. C likes BS

1. D can like B2 and P5

IV. C likes either P1 or P4

Options :

1. * Il and IV

2. % Tand II

3. ®# I, Il and IV
4.+ 1,11 and 111

Question Number : 16 Question Id : 97675532104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. #® aurv

2. % [9UTII

3. % [ [ dUT IV

4.4 1,11 QYT I




Question Number : 17 Question Id : 97675532105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A team of 5 members is to be formed from 5 boys : A, B, C, D and E and 5 girls : P, Q, R, S and T. A can be selected with either Q or E. P cannot
be selected with T. A and S have to be selected together. R can be selected with neither D nor E.

Which of the following can represent the members of the team?

LPASQR

ILQSATE

NLPEASR

IVBCAQS

Options :

1. * [ llland IV
2. % JTand II

3. % Iland IIT

4. ¥ Jand IV

Question Number : 17 Question Id : 97675532105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5ASH! : A, B, C, D AUTE TYT 5 AS[HAT : P,Q, R, SAYT T H U 5 YW B Uh 1H FT ST &1 A DI AT Q TTE & 1 AT oIl el
21 Pl T F T ww%mamsaﬁwaﬁzﬁw%Rﬁﬂ@?DﬂT@?E%ﬂW%ﬁmﬂw%l
ﬁaﬁr@aﬁ@rﬁqﬁéﬁ%aﬁﬁwm%‘?

LPASQR
I.QSATE

IMLPEASR
IVBCAQS

Options :

1. % LI dIr v
2. % 1dYT I

3. % I dYTIII

4. ¥ 1TdUTIV

Question Number : 18 Question Id : 97675532106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Marks of 8 teachers T1, T2, T3, T4, TS, T6, T7 and T8 are compared. Marks of only 3 teachers are less than T2. Marks of T6 are more than T7
but are not more than T8. Marks of T1 are not more than T4 and T5. Marks of T8 are less than T3.

If marks of T3 are more than only 3 teachers, then which of the following statement(s) is/are not correct?

I. Marks of maximum 5 teachers can be same

II. Marks of T5 are more than T4

III. Marks of T1 can be the maximum

Options :

1. # Tand II

2. % Only III
3.9 Only II

4. % I, 1l and III

Question Number : 18 Question Id : 97675532106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % IdUTII
2. % Had I
3. ¢ Had I

4. % [ 11 dYUTIII

Question Number : 19 Question Id : 97675532107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements



to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:

I. All F are D.

II. Some D are G.

Conclusions:

I. Some G are D.

II. Some G are F.

Options :

1. ¥ Only conclusion I follows
2. % Only conclusion II follows
3. # All conclusion follows

4. % Neither conclusion follows

Question Number : 19 Question Id : 97675532107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T feu T Uy H 53 HYT 3R I dIe 3 HYA W 3NURd $3 Fpy 3T 7w B fou Ty &1 I8 7F, TR S 9 91d )
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I.ﬂlﬁF,D%%

I.$8 D, G gl

fean:

L$SG, DRI
I. $3 G, F gl
Options :

1. ¢ $ad fIshY | SIER0 Rl 8

2. % Had fHY 11 ST HT &

3. % gt ey SRRUT v §

4. % B3 Ui FIshy SR T8l HraT §

Question Number : 20 Question Id : 97675532108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:

I. All X are Y.

II. NoYis C.

Conclusions:

[. No Cis X.

II. Some C are not Y.

III. Some X are not Y.

Options :

1. #® Both conclusion I and III follows
2. % Both conclusion II and III follows
3. ¥ Both conclusion I and II follows

4. % Neither conclusion follows

Question Number : 20 Question Id : 97675532108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3T T Uy & 8 U 3R 3% 918 31 HUHI IR AUING & 56y 3T T4 § 1 3T T 2= & 981 A, 918 S8 Qg I 9
T forsrar 811 gt feeed ug ok fthr FReiia & fos fiu e &F 9 freed, 3T 0 i & SR | gfadsiid |

HYT:

LI x, v g

Hﬁ‘%lﬁY C eI 5l

Iﬁ‘s‘lﬁc X T8l 8l

IL$SC,YTRlgl
L. $6 X, Y Tel gl

Options :

1. % Gl FTSBY 1 T I11 SFJIR0T %
2. % QI FISHY 1T TUT 111 3IIRRUI Hd §
3. ¢ GFI F5BY 1 T 11 SRR vd &
4. % 13 i Iy SR T8I HrT §




General Ability2

Group Number : 2

Group Id : 976755943

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
General Ability2

Section Id : 9767551373

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 9767551604

Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 97675532109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:



I. All blue are yellow.

II. Some red are black.

1. All red are yellow.
Conclusions:

I. Some black are yellow.

II. No red is blue.

III. Some blue are not black.

Options :

1. # Only conclusion II follows

2. % Both conclusion I and III follows
3. % Only conclusion I follows

4. % Neither conclusion follows

Question Number : 21 Question Id : 97675532109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fau T Uy H 8 U 3R I 918 31 HUHI IR YRG5 56y 3T T4 § 1 3T T H2= &1 981 AM, 918 S8 Qg 1 9
@rmﬁmﬁﬂﬁwﬁuﬁfeﬁ?ﬁﬂﬁﬁﬁﬁﬁ%mwﬁqﬁﬁwﬁ 3T U HY=1 & YR W FfFaeid gl
hYyd
Imﬁﬁwm%
II. $3 A BT g |
111, gt o e g
ﬁmﬁﬁf
FEEANIRINIE
II ﬁélﬁtﬂa:ﬂ?ﬂqﬁ%l
111 $ -l HIal T8l ¢ |
Options :

1. ® $Had F5HY I1 IR0 Hdl &
2. % QI FSHY [ T 111 SFR0T Rl §
3. ¢ Had sy [ 3R BT |
4. % DIz WY Fspy SR 8 HRT 8

Question Number : 22 Question Id : 97675532110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:

[.NoGisT.

II. NoRis A.

II1. Some A are G.

Conclusions:

. NoTisR.

II. Some A are not T.

II1. Some A are not G.

Options :

1. # Both conclusion I and III follows
2. % Only conclusion II follows

3. % Only conclusion III follows

4. # Both conclusion II and III follows

Question Number : 22 Question Id : 97675532110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T faU T Uy H 8 U 3R I 918 3 HUHI IR SAUNRG & (56Y 3T T4 § 1 3T T H2= & 981 AM, 918 S8 Qg 1 9
Y frzrar 811t e o ofk fisR e &% i fou o o1 @ s, fou 71U syt & sMyR &R gfaawia g

DHY-:
L 3% G, TS B
11 ®s Hi R, A TET I

L. $S A, G gl
fsp:

L@ T R T
IL. S A, TTel ol
1. $S A, G Tl g

Options :
1. # G feme 1 YT 111 SRR v §
2. ¢ Had fspY 11 SRV BT &



3. % Had B 11 3IER0T HRl &
4. % Q! FSHY 11 T 111 SRR A &

Question Number : 23 Question Id : 97675532111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:

I. Al B are G.

II. All G are H.

1. All B are T.

Conclusions:

I. Some T are not H.

II. Some H are B.

III. Some T are G.

Options :

1. % Both conclusion I and II follows

2. # Neither conclusion follows

3. % Both conclusion II and III follows

4. % All conclusion follows

Question Number : 23 Question Id : 97675532111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 foU T Uy T 58 U 3R 39D 918 31 Bl R SMUTRT & (5hs U MU | 3T T Hy=1 &I 9! AM, 31e 374 AE 1 a2t
T oz 81t feeedf o oik fsR feifa & 6 fou o o O fse, fou 71U wyi & SR &R gfaasa g

HY:

.9 B, GBI

.99 G, H g

1L g B, T8

fep:

L. $S T, Hel gl




I. $S H, BEl
L. $ST,G 3l
Options :

1. % QI FT5BY 1 T 11 3FIERU $1d §

2. % BHIg ot FISHY SRRV T8l BT §

3. ¢ G (ISR Y 11 T 111 SRR $HRd §
4. % i} Fsp Y SFRRUT %l §

Question Number : 24 Question Id : 97675532112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the related number from the given alternatives.
351:117::216:?

Options :
1. % 78
2. % 175
3.¥72
4. % 71

Question Number : 24 Question Id : 97675532112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o fau e fawed! & § defia e &1 gt
351:117::216:7?

Options :

1. % 78

2. % 75

3.¥72

4. % 71

Question Number : 25 Question Id : 97675532113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

By interchanging the given two signs and numbers which of the following equation will be incorrect?
+and —; 4 and 2

Options :

1.%¥ 2x3+6-5+4=5
2.9 7-3+6x4+2=3
3.%4+3+6%x2-8=-8
4, # 2x3+-6+9-4=-5

Question Number : 25 Question Id : 97675532113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau TTu & gl T &1 Il b SHTu H IR Saer W, Fufafed & @ &1 91 gHieRu I8t T8 g
+dUT — 4 dYT 2

Options :

l.#¥2x3+6-5+4=5

2.9 7-3+-6x4+2=3

3.%4+3+6%x2-8=-8

4, # 2x3+-6+9-4=-5

Question Number : 26 Question Id : 97675532114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the number which can be placed at the sign of question mark (?) from the given alternatives.

2% |11 [ 189
Q16|35 |142
71314 ?
Options :
1. % 62
2. % 68

3. 74



4. % 86

Question Number : 26 Question Id : 97675532114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad vy @ fau T fasedl O 9 Uy fg (2) & RIM WR 3 aTelt Ie &1 gl

2|5 |11 [ 189
Q16|35 |142
713 4 ?
Options :
1. % 62
2. % 68
3.¥ 74
4. % 86

Question Number : 27 Question Id : 97675532115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

[f8A7A9C6=18and 12A6A3C8=13,then 6 A4A8C3="7
Options :

1. ¥ 25

2. % 32

3. % 35

4. % 28

Question Number : 27 Question Id : 97675532115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
GE8ATAIC6=18TUI2A6A3C8=13B, A 16A4A8C3="2
Options :

1. ¥ 25



2. % 32
3. % 35
4. % 28

Question Number : 28 Question Id : 97675532116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the diagram that best represents the relationship among the given classes.
Table, Chair, Furniture

Options :

(0o

OO
O

2. ®

3. %




4.

Question Number : 28 Question Id : 97675532116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

98 3R AT S i foU U ol & o9 & IdY &1 et g Har g
T, R, iR

Options :

(0o

OO0
O




4.

Question Number : 29 Question Id : 97675532117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many square are only red?

z 11
NI

15 £,

6 8

19
Square

Pentagon
Options :

1. %5

2.% 3

3. % 17

4.9 2

Question Number : 29 Question Id : 97675532117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



6 8

KEkS

Options :
1. %5
2. %3
3. % 17
4.¥ 2

Question Number : 30 Question Id : 97675532118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Based on the given venn diagram, which of the following statement(s) is/are correct?
I. Number of white which are not yellow are 36.
II. Total number of blue are 47.

Blue Yellow

White




Options :

1. % Only I

2. % Only II

3. ¥ Both I and 11
4. ¥ Neither I nor II

Question Number : 30 Question Id : 97675532118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

32 7T 3 3R & YR W, Fefif@d & Q@ & 91/ U 98l /82
1. 98 < Sl Uil T8t 8, 1 G 36 5 |
I1. 17 B Hd T 47 € |

i e T

Options :

1. % PHadl
2. % Had Il
3. ¢ 1 qUTIL AT
4. % 1B

Question Number : 31 Question Id : 97675532119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Based on the given venn diagram, which of the following statement is correct?
I. Number of car which are jeep and white both are 12.
II. Number of jeep which are white are 31.

5 5
Jeep 15 | Car

\ Al?
"7
A 11

Options :

1. ¥ Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

3

White

Question Number : 31 Question Id : 97675532119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a0 T 39 3T & MR W, FufiRad 7 ¥ &9 91 HU= T8t 82
1. 98 BR Sl ol 9UT Gtbe, aHl 8, B! T 12 B



1. 9 ST Sl 9%¢ §, B TBAT31 5|

v 15 | &R
NIIVAN
19
13 12
/ \
AN
3 N,
q5e
Options :
1.¥ $had |
2. % Had I
3. % [ UGl

4. % qIEIAIBI I

Question Number : 32 Question Id : 97675532120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Based on the given venn diagram, which of the following statement is correct?

Tyre /\/ Truck
R

3
13 2

11
(57 N6\
/ 7 \]

Hard




Options :

1. #® Total number of tyre are 33

2. % Number of tyre which are not hard are 15

3. % Number of truck which are only hard are 10

4. ® Number of tyre which are neither truck nor hard are 20

Question Number : 32 Question Id : 97675532120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fad 70 39 3T & MYR W, FAufeifad # 9 &9 1 HY= I8! 82

w\/\/ﬁ

13 2

Options :

1. % TR &1 Ho G 33 §

2. % g TRR Sl I -T61 5, DI U= 15 8

3. ¥ 98 TH ol had I &, DI XA 10 §

4. % GETARSI TS CH g T8I T € DI UBA20 §

Question Number : 33 Question Id : 97675532121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which answer figure will complete the pattern in the question figure?






Question Number : 33 Question Id : 97675532121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI T IR ATHIA U 3Mpfd & Ufaey o R i
NI
Al
=N

Options :

1. ¥




4. %

Question Number : 34 Question Id : 97675532122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the figure which can be placed at the sign of question mark (?) from the given alternatives.

A 3 A vV A A\

® Yo 3 ® 3 0A
vV 3 3 3 3 3
Options :




Question Number : 34 Question Id : 97675532122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

faferRad oy o fau e fawed! & 9 vy feg (2) & RIM WR 3 arelt 3 fd &1 |

A

.
Vv

3

A
Vo 3
3

VY L
®

3 3

A\
3 0A
3

Options :




3 v

L)
JE a8
74

3 @
3 A
3V

O
3. % 3 A
3 Al

()]
3V

Question Number : 35 Question Id : 97675532123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the figure which can be placed at the sign of question mark (?) from the given alternatives.



v O

Ojjoe

O

ov

OA

ool |eO

Options :

4—6—**6-9;'-9:4-9-#’

0o

A O

Oe

|40

O
O

¢

O]
<

3. ¢

O
[

¢

O
D>




Question Number : 35 Question Id : 97675532123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fafeRad vy @ fau T fowedl O 9 Uy fag (2) & RIM R 3 drelt 3HTdhid &1 gl

OA Oov||lo O||oe

O | || [+ | <S> ?
o ® O | A v O

Options :

o>

2. % k&

AT A

A

3. ¢

1

0o
ADO
Ooe
A O
4+

O

O




vid

Question Number : 36 Question Id : 97675532124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the figure which can be placed at the sign of question mark (?) from the given alternatives.

YoM

od>o

Jo 4

<pq 4

o Ao

!

oo

LoV

4 °pb

oo

B o <

Options :




oy o

m[X <

o 4 o
3% A

° 4 Py

mX<
. \4 °|

Question Number : 36 Question Id : 97675532124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad vy @ fau T fomedl O 9 Uy i (2) & RIM R 3 arelt 3Tdhid &1 gl

»oM||[omeo|[mo 4 4 ON
el 11| 2| 2 [
Jod|l|lo Aol|loV Mo <
Options :




o 4 o
3. % A

o 4 Y|

m X<
L. Lo \4 °|

Question Number : 37 Question Id : 97675532125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Two positions of a dice are given below. What will come opposite to face containing ‘4’ on it?

<

Options :
1. %5



2.%3
3.6
4. %7

Question Number : 37 Question Id : 97675532125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
19 T U Pt a1 SRS ST T § | 4° ot e o faURId o SHTET?

<

Options :
1. %5
2.%3
3.6
4. %7

Question Number : 38 Question Id : 97675532126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Three positions of a dice are given below. What will come opposite to faces containing ‘$’ and ‘#’ respectively?

Options :
1. % 3, K
2.9 K, 3
3.% K,D



4. % %, 3

Question Number : 38 Question Id : 97675532126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T U @ A ATy SR T § | HEE: 8 U7 4 Gard WaAdh| b [qURId T ST

D 2 &

Options :
1. % 3, K
2.%K,3
3.%K,D
4. % %, 3

Question Number : 39 Question Id : 97675532127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many triangles and quadrilaterals are there in the given figure respectively?

Options :
1.¥12,3
2. % 10,4



3.% 12,4
4. % 10,3

Question Number : 39 Question Id : 97675532127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& 112 anepfa o R frdm Biyst aur agquys &7

Options :
1.9 12,3
2. % 10,4
3.% 12,4
4. % 10,3

Question Number : 40 Question Id : 97675532128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many triangles and quadrilaterals are there in the given figure respectively?



Options :
1.¥5,2
2.% 6,3

3.% 53
4. % 6,2

Question Number : 40 Question Id : 97675532128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& 712 3nepfa & R fhdm Biys aur agqus &7

Options :
1.¥5,2



2.%6,3

3. 5,3
4. % 6,2
General Awareness1
Group Number : 3
Group Id : 976755944
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
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Group Marks : 20
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General Awarenessl1
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Number of Questions : 20
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Section Marks : 20
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Sub-Section Id : 9767551605
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 97675532129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Chad Sukra (sowing festival) festival is associated with which state?
Options :

1. # Karnataka

2. % Haryana

3. ¥ Meghalaya

4, % Assam

Question Number : 41 Question Id : 97675532129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS R (AT PT AIBR) Tl Iy Heifdrel g2
Options :

1. % HAlCcH

2. % giamn

3. ¢ YTy

4. % 3HH

Question Number : 42 Question Id : 97675532130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a double reed wind instrument.

Options :

1. ¥ Sundari

2. # Khartal

3. % Santoor

4. % Surando

Question Number : 42 Question Id : 97675532130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
U A3E I agag A gl



Options :
1. ¢ gl
2. % WRdd
3. % R
4. % LA

Question Number : 43 Question Id : 97675532131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following monument is NOT located in Delhi?
Options :

1. % Kotla Feroz Shah

2. ¥ Humayun’s Tomb

3. % Safadarjung Tomb

4. ¥ Fatehpur Sikri

Question Number : 43 Question Id : 97675532131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafifed o ¥ &9 I ¥R oo & fRud el 82
Options :

1. % Picdl fhIs 2Te

2. % U &1 AHHR]

3. ® YHIollT HDheR]

4. ¥ BAERR Yl

Question Number : 44 Question Id : 97675532132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
dance belongs to Mizoram.
Options :



1. # Baredi
2. % Karma
3. % Cheraw
4. # Yakshagana

Question Number : 44 Question Id : 97675532132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
o teRE 3 gEia Rl
Options :

1. % §¥St

2. % FHAI

3. ¥ @39

4. % &I

Question Number : 45 Question Id : 97675532133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘Kamakhya temple’ is located in which city?
Options :

1. % Bengaluru

2. ¥ Guwahati

3. # New Delhi

4. % Jaipur

Question Number : 45 Question Id : 97675532133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
“HHRE HieR fhg wrer o Ryd g2

Options :

1. % dTS



2.« TAIgICH
3. % 3 faeel

4. % SR

Question Number : 46 Question Id : 97675532134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The economy in India is

Options :

1. ¥ Communist

2. ¥ Mixed

3. % Socialist

4. % Capitalist

Question Number : 46 Question Id : 97675532134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YRA A efeae B

Options :

1. % Qrgard!

2.« fof9d

3. % FHTSATA!

4. % Gollard]

Question Number : 47 Question Id : 97675532135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

National Disposable Income =

Options :

1. ¥ Net National Product at market prices + Other current transfers from the rest of the world
2. % Net National Product at factor cost + National debt interest



3. # Net National Product at market prices - Other current transfers from the rest of the world
4. ® Net National Product at factor cost - National debt interest

Question Number : 47 Question Id : 97675532135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS YA 314 =

Options :

1. ¥ SR STl R Had AP TG + [V fay & GO =0 J U 31 a1, SfeRom
2. % 9 AP IdTE + AP B0 S

3. % SINR S IR Fde AP IATE - Y 9% & g8 =T J UK 3 e 30l
4. % {3act APTT IATG - AP H01 AT

Question Number : 48 Question Id : 97675532136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is correct regarding about the proportional income tax?
L. It acts as an automatic stabiliser.
II. Firms are taxed on a proportional basis, where the tax rate is a particular proportion of profits.

Options :

1. % Only 1

2. % Only II

3. % Both I and I
4. ® Neither I nor II

Question Number : 48 Question Id : 97675532136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST 3 R & T # Fofafad & 9 o F a1 wgl 82

1. 98 U Wc: RRS 3| .

I1. AT TR T STYR TR HR T S §, ST8T R b & ATy 3119 &1 U faRIY 3furd 8lar ]|

Options :




1. % FHadl
2. % HAd I
3. ¢ [ QYT I gl
4. % 1B

Question Number : 49 Question Id : 97675532137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the total liability of the monetary authority of India, Reserve Bank of India is called?
I. Monetary Base
II. High powered money

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 49 Question Id : 97675532137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR Roid S 1 321 & M UTiienor o1 Wqul Sorar o1 o1 He1 STl 82
1. AifS® SMUR
1. 3= RMfoI=ITet gl

Options :

1. % $Had 1

2. % Had Il

3. ¢ 1 AU Gl
4. % I I

Question Number : 50 Question Id : 97675532138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following statements is correct regarding Balance of Payments?
I. Capital Account and Current account are its two primary components of it.
I1. It is the systematic record of all economic transactions between the residents of a country with the rest of the world.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 50 Question Id : 97675532138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

el Uqa & Teof o Faferiad o @ 1 1 By It 72

1. T QT 3R Yol |l 9% &1 WIS 9 ¢ |

11. 7 fordlt =1 & MaTRa! $ik [ fay & g @it s aie Ao grar 31
Options :

1. % dhad |

2. % Had Il

3. ¢ 1 qUT I A

4. % A IAE I

Question Number : 51 Question Id : 97675532139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not an equation of an object moving at uniform acceleration?
Options :

. % v=u+at

2. ¥ u=1/(at?)

3. % 2ag=v2—u?

4. % g=ut+ 1/(2at?)

Question Number : 51 Question Id : 97675532139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

UHTH @RUT Y I 6] U a¥ B! T B e &1 FEfafad # T i I1 It gl 781 82
Options :

1. % v=u+at

2. ¥ u=1/(at?)

3. % 2ag=v?2 2

4. % g=ut+ 1/(2at?)

Question Number : 52 Question Id : 97675532140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement regarding modern periodic table is correct?
I. Atomic radius increases in moving left to right along the period.
II. Atomic size decreases down the group.

Options :

l. % Only I

2. % Only II

3. # BothIand II
4. ¢ Neither I nor II

Question Number : 52 Question Id : 97675532140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YD 3ad IRt & e # Fufaied & 9 & 1 HyF 98! 82
I. 3Tad H 973 I a8 3R ST TR TRA] a1 gt 8|

L. g H SR Y - S TR URHATY] BT WIS gedl g |

Options :

1. % FHad 1
2. % Had Il
3. % [ UGl
4. TRIIATRII



Question Number : 53 Question Id : 97675532141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a characteristic of vertebrata?
I. They have a notochord

II. They are biploblastic

II1. They are coelomate

Options :

1. # Iand II

2. % Il and III
3. % T and III

4. % I, 1l and III

Question Number : 53 Question Id : 97675532141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafifad # ¥ o 1 adfae & e fARivdr 82
I. 379 AIcIPls Bid &

I1. 98 fg®IN® 81 §

I11. U8 <861 8 §

Options :

1. % IddTII

2. % 11 dYTIII
3.9 1 dYUTIII
4. % I, I dYT III

Question Number : 54 Question Id : 97675532142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement regarding sound is NOT correct?

I. The audible range of hearing for average human beings is 30Hz-30kHz.
II. Outer ear is called pinna.



II1. Ultrasounds can be used to detect cracks and flows in metal blocks.
IV. Frequencies higher than 15kHz are called ultrasound.

Options :

1. ®* I, Il and IV
2. % Il and III
3.% Tand IV

4. % Only III

Question Number : 54 Question Id : 97675532142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gt & e 7§ Fufrfed & 9 &F a1 sy Id) T 22

L. 4} § €319 Pt Youar o1 3id TR 30Hz ¥ 30kHz B

11. ST8<} BT ‘P Ul Ucia® Hedl g |

1. TRTEFT &1 SUTNT YT & D! B GRR qUT 37 NI HI Ul T & g foram S g |
IV. 15kHz § 31f¥/e gt 1 eafal ol wRreaf dgd g |

Options :

1. % LITdUT IV
2. % I dUTIII
3.9 1AdUTIV

4. % Had I

Question Number : 55 Question Id : 97675532143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following comprise the natural environment?
I. Land

II. Water

I11. Plants

IV. Animals

Options :

1. # Tand II

2. % 1L, I and IV



3. % [l and IV
4. % [ 11, Il and IV

Question Number : 55 Question Id : 97675532143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafaRed & 3 w1 Uigfae ardraxor § i 82
L3

IL 5d
111 9s-0e
IWASICE|

Options :

1. % IdYTII

2. % 1L 1T dYTIvV
3% I dUTIV

4. 111, I dYT IV

Question Number : 56 Question Id : 97675532144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which direction is indicated by the Pole star?
Options :

1. # East

2. % West

3. % North

4. * South

Question Number : 56 Question Id : 97675532144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Yd TR H I T =01 71 I Biell 82

Options :



1. % 7qd

2. % Ufgy
3. % 3t}
4. % Gfgqr

Question Number : 57 Question Id : 97675532145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which layer of atmosphere is used in Radio Transmission?
Options :

1. ¥ Thermosphere

2. % Exosphere

3. # Troposphere

4. % Mesosphere

Question Number : 57 Question Id : 97675532145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

JIgHSH &1 BIF T TR BT YA ST TR & forg fvan Sran g2

Options :

1. ¢ SIEIHSd
2. % gigHed
3. % giygsd
4. % gHHSA

Question Number : 58 Question Id : 97675532146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the approximate height of peak Nanga Parbat?
Options :

1. # 8172 meters



2. * 8598 meters
3. # 8848 meters
4. ¥ 8126 meters

Question Number : 58 Question Id : 97675532146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
=T Udd B AT s 1 e?
Options :

1. % 8172 HicX

2. % 8508 HIcR

3. % 8848 HIC

4.+ 8126 HIcR

Question Number : 59 Question Id : 97675532147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Buddha belongs to which Varna?
Options :

1. % Vaishya

2. # Brahmin

3. ¥ Kshatriya

4. ¥ Shudra

Question Number : 59 Question Id : 97675532147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
§< forg auf 9 Tefea &9

Options :

1. % 9=y

2. % SIT|I00



3. ¢ &g
4. % g

Question Number : 60 Question Id : 97675532148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the Battle of Buxar took place.
Options :
1. ¥ 1764
2. % 1857
3. % 1757
4. % 1864

Question Number : 60 Question Id : 97675532148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SRR & qS% dgs ot

Options :
1. ¥ 1764
2. % 1857
3. % 1757
4. = 1864

General Awareness2
Group Number : 4
Group Id : 976755945
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No

Edit Attended Group? : No



Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

General Awareness2

Section Id : 9767551375
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 9767551606
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 97675532149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who established the Santiniketan?
Options :

1. ¥ Rabindranath Tagore

2. * Motilal Nehru

3. % Jawahar lal Nehru

4. % Mahatma Gandhi

Question Number : 61 Question Id : 97675532149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

rifadd &1 RITTAT e & o2



Options :

1. ¢ EGATY SR
2. % AdAd Hg%
3. % SAER d1d "8 ®
4. % TgTET Tl

Question Number : 62 Question Id : 97675532150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who formed the Swaraj Party?
I. C.R. Das
II. Motilal Nehru

Options :

1. % Only I

2. % Only II

3. % Both I and I
4. #® Neither I nor II

Question Number : 62 Question Id : 97675532150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RIS UTe| &1 T34 fopae fopam U
I 3R T
IRNNGERS

Options :

1. % PHadl

2. % Had Il

3. 1AUT ISl
4. % 18I

Question Number : 63 Question Id : 97675532151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following pair regarding Mughal ruler and their time period is correct?
I. Babur — 1526-1530
II. Akbar — 1556-1605

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 63 Question Id : 97675532151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafaRed & I &1 91 g ITd IS 3R 3 A H1d & Gae T T51 57
I 916 - 1526-1530

II. 3R — 1556-1605

Options :

1. % Had 1
2. % HAd Il
3. [ QYT I gl
4. % 1B 1

Question Number : 64 Question Id : 97675532152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who is known as the Missile Man of India?
Options :

1. ¥ AP J Abdul Kalam

2. ¥ Homi J. Bhabha

3. # Vikram Sarabhai

4, % Ratan Kumar Sinha



Question Number : 64 Question Id : 97675532152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRd & Barsd 89 & ©U H {2 ST oirar 82
Options :

1. ¥ T UL S, 3fegd Ha™

2. % GIETS, HIHT

3. % faohH ARITS

4. % 399 HUR g1

Question Number : 65 Question Id : 97675532153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Raja Ram Mohan Roy award is associated with which field?
Options :

1. ¥ Journalism

2. % Literature

3. # Environment Protection

4. % Science

Question Number : 65 Question Id : 97675532153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

JTST X1 Hig X [REHR 69 & 4 Hafid g2
Options :

1. ¥ GABIRAT

2. % g

3. % GYiaRUT UR&MT

4. % fagmH

Question Number : 66 Question Id : 97675532154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

‘Listening, Learning and Leading’ book launched by Amit Shah is based on whom?
Options :

1. # Swami Ramdev

2. % Narendra Modi

3. ¥ M. Venkaiah Naidu

4. # Sachin Tendulkar

Question Number : 66 Question Id : 97675532154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T =18 gRT SrgHifed forare feraf, @i T dif$T ford wR emenia g2
Options :

1. % W M

2. % TG A

3. ¢ TA. AT Aag

4. % i dgerx

Question Number : 67 Question Id : 97675532155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Where are the head quarters of World Bank located?
Options :

1. ¥ Washington DC

2. % Vienna

3. % Budapest

4. ® Paris

Question Number : 67 Question Id : 97675532155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



JCS dob BT JATAHI Bl [ 52
Options :

1. ¥ qIiRfTe St

2. % fqgn

3. % geUE

4. % UR9Y

Question Number : 68 Question Id : 97675532156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who is the author of the book ‘Second night’?
Options :

1. * Satbir Singh

2. % Rajiv Dogra

3. ¥ Valay Singh

4. % Raghuram Rajan

Question Number : 68 Question Id : 97675532156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Yobg AR YD b G DI 8?2
Options :

1. ® gd«R g

2. ¢ 5ild SR

3. % goyg g

4. % IYRTH IS

Question Number : 69 Question Id : 97675532157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Donald Trump is the US president in history to be impeached.



Options :
1. # first
2. # fifth
3. % third

4. % second

Question Number : 69 Question Id : 97675532157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HEIHINT <o dTel SiHIes o Sfdery | AR Igufa &
Options :

1. % Ugd

2. % Uigd

3. ¥ dRR

4. % G

Question Number : 70 Question Id : 97675532158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A seabed mining robot got stranded in Pacific Ocean on April 29, 2021.
Options :

1. % Pastang II

2. % Patania Il

3. ¥ Sarang II

4. % Vyugall

Question Number : 70 Question Id : 97675532158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Teh G G B Tl Aic 3T 29, 2021 T Ud HERITR & Y TRIT UT|
Options :




1. % gRANT I
2. ¢ UeI=an 11
3. % gRIT1I
4. % T

Question Number : 71 Question Id : 97675532159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which country has the Chairmanship of BRICS in 20217?
Options :

1. # Brazil

2. % China

3. % India

4. % Russia

Question Number : 71 Question Id : 97675532159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2021 ® fSaT (BRICS) Pt 3fegeraT ford 3213 UM 82
Options :

1. % Seite

2. % T

3. ¥ HRd

4, % Y

Question Number : 72 Question Id : 97675532160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following country has rank 1 in Corruptions Perceptions Index 20207
Options :

1. # Finland



2. % Norway
3. ® Sweden
4. ¥ Denmark

Question Number : 72 Question Id : 97675532160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad o 9 ford 2 & YR YR Yadhids 2020 H & 1 82
Options :

1. % fipicls

2. % 41d

3. % e

4. ¥ STHID

Question Number : 73 Question Id : 97675532161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which article of the Indian constitution deals with The President of India?
Options :

1. ¥ 52

2. % 54

3. % 55

4, % 53

Question Number : 73 Question Id : 97675532161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR G4 BT B AT Sfeda HRd & IPUd J Heifdrd g2
Options :

1. ¥ 52

2. % 54



3. %55
4, % 53

Question Number : 74 Question Id : 97675532162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following language is mentioned in the Eighth Schedule of the Indian constitution?
I. Dogri
II. Bodo

Options :

1. % Only I

2. % Only I

3. % BothIand II
4. % Neither I nor II

Question Number : 74 Question Id : 97675532162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ﬁgﬁ%@aﬁﬁﬁﬁwuﬁuﬁﬁwﬁ 3t g o aftfa g2
L.

1. STSt

Options :

1. % Had |

2. % Had II

3. ¢ 1 AUT I
4. % qEIIATR I

Question Number : 75 Question Id : 97675532163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which part of the Indian constitution deals with The Scheduled and Tribal Areas?
Options :



1.¥X
2. % IX
3. % XI
4. = XII

Question Number : 75 Question Id : 97675532163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRATT G BT 14 I HIT ST 3R Sonfa & & Feifid 82
Options :

1.¥ X

2. % IX

3. % X1

4. % XII

Question Number : 76 Question Id : 97675532164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year did the sixty first amendment of the Indian constitution take place?
Options :

1. * 1990

2. % 2002

3. % 1982

4. % 1988

Question Number : 76 Question Id : 97675532164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR AU &7 ShTad GauTHE TR fd a8 J g3 U
Options :

1. %* 1990

2. % 2002



3. % 1982
4. % 1988

Question Number : 77 Question Id : 97675532165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement regarding the President is correct?
I. Article 54 of the Indian constitution deals with election of President.
II. Article 58 of the Indian constitution deals with qualifications for election as President.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 77 Question Id : 97675532165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafirad § ¥ SIF B9 B Iyufa & Ge # we 32

1. HRANg HiG™ &1 3rg=sa 54 AFUfd & Mated 9 Feifdd g

11, YR WfIeT &7 3rfwde 58 Pl FHaifad g & g argar 9 4efia |
Options :

1. % Had 1

2. % Had Il

3. ¢ 1 AUTIL Gl

4, % G IATGHI

Question Number : 78 Question Id : 97675532166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following pair of sports — sportsperson is correct?
I. Kabaddi — Manoj Tiwary



II. Kabaddi — Ajay Thakur
Options :

1. % Only I

2.% Only II

3. # Both Iand II

4. ® Neither I nor II

Question Number : 78 Question Id : 97675532166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T - faeret &1 ffafad § @ oF o g 98 82
1. B - FeS! ferar)

11 HES! - 31T BIPHR

Options :

1. % FHadl
2. ¥ Had Il
3. % [qUT el
4. % 1B

Question Number : 79 Question Id : 97675532167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which country hosted the FIH Women’s World Cup 2018?
Options :

1. * France

2. % Belgium

3. ¥ England

4. % Netherlands

Question Number : 79 Question Id : 97675532167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



U, 318U, Afgdl fdy & 2018 &t ASaH! fbg <2 4 B
Options :

1. % i

2. % gfeorayq

3. ¢ 3dS

4. % Hexds

Question Number : 80 Question Id : 97675532168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following pair of sports tournament — sport is correct?
I. Uber Cup — Badminton
II. Hopman Cup — Tennis

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 80 Question Id : 97675532168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

G HF e - et o1 P 1 8 1 g e 82
[. 3 hY — dS[H<CH

I1. 3109 &Y — g

Options :

1. % Bad 1

2. % had II

3. 1T GHl

4. % GG




Arithmetic Abilityl

Group Number : 5

Group Id : 976755946
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

Arithmetic Abilityl

Section Id : 9767551376
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 9767551607
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 97675532169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The product of two numbers is 9000. If their Highest Common Factor is 45, then what is their Least Common Multiple?
Options :

1. % 200

2. % 400



3. % 250
4. % 300

Question Number : 81 Question Id : 97675532169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 W13 BT OB 9000 B | TfE ITehT HETH JHTUTAD 45 8, Tl ST TTgH JHYGS T 32
Options :

1. ¥ 200

2. % 400

3. % 250

4. % 300

Question Number : 82 Question Id : 97675532170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
(8 x 8)3 + (64 x 8)° x (4096)?=(8)
If

, then what is the value of x?
Options :

1. % 7

2.% 6

3.% 4

4. 95

Question Number : 82 Question Id : 97675532170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

(8 x 8)°+ (64 < 8)° x (4096)* = (8)*
g, dl x BTAA AT 32
Options :

1. %7

2.% 6



3.% 4
4. 95

Question Number : 83 Question Id : 97675532171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct?

I. 213 is that largest number which can exactly divide
639. 1065 and 1491.

II. J§+Jg::-ﬁ+ﬁ

Options :

1. ¥ Only I

2. % Only II

3. % BothIandII
4. # Neither I nor II

Question Number : 83 Question Id : 97675532171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT # @ FiF @1 Fu7 #@@r

I. 213 9¢ Y 97 AT § ST 639, 1065 3T
1491 F qUiT: fFenfea & gt &

II. J§+Jg::- \E+\E
Options :

1. ¥ Had 1

2. % Hhad Il



3. % 1dUT Il
4. % qIEIIATSIII

Question Number : 84 Question Id : 97675532172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct?

1 1 | 3

I —4 —+ —=—
28 30 42 28
4 1 2

[I. —<—<—
(7l

Options :

1. % Only I

2. % Only II

3. #¥ BothIand Il

4. % Neither I nor I1

Question Number : 84 Question Id : 97675532172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ol # 3 oF 91 Sy gl 82
1 1 1 3
Lo — o
28 30 42 28
ILiﬁl{E
ol SRR
Options :

1. ® Hadl
2. % Had Il
3. % 1 qYT I aHl



4.« ATBIIATBII

Question Number : 85 Question Id : 97675532173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is correct?
I. 19 is that greatest number which when divides 307 and 330 leaves remainder 3 and 7 respectively.
II. Highest Commont Factor of (2/3), (4/9) and (5/6) is (1/18).

Options :

1. % Only I

2. % Only II

3. % BothIand II
4. #® Neither I nor II

Question Number : 85 Question Id : 97675532173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad § ¥ o9 91 Hy= I8 82

1. 19 98 To8 T8! T-AT § Sl 307 3R 330 B! fAHIRIT PP Juhd HHT: 3 3R 7 3t ¢
IL (2/3), (4/9) TUT (5/6) T HETH JHUAAD (1/18) B

Options :

1. % FHadl
2. % Had Il
3. ¢ 1 AU Gl
4. % qIGIIATRIII

Question Number : 86 Question Id : 97675532174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Selling price of an article is Rs. 6080 and discount of 36 percent is offered. What is the marked price?
Options :

1. * Rs. 9600



2. ¥ Rs. 9500
3. ¥ Rs. 9000
4. % Rs. 8800

Question Number : 86 Question Id : 97675532174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS g BT faohd T 6080 TUT § YT 36 UfA=Id &1 ge &1 712 71 3iftrd Jeu 82
Options :

1. % 9600 3T

2. ¥ 9500 TYY

3. % 9000 TYY

4. % 8800 3T

Question Number : 87 Question Id : 97675532175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A shopkeeper allows 10 percent discount on the marked price of an article and he suffers a loss of 10 percent. If the article is sold at marked price
then, what will be the profit percentage?

Options :

1. # 5 percent
2. % ( percent
3. % 10 percent
4. % 15 percent

Question Number : 87 Question Id : 97675532175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP HMER Udh a¥d & 3ifhd T TR 10 U= 1 Be odl § adT 39 10 U= &1 81 gidl ¢ | e axg ®! 3ifdrd e IR 1 ofTg,
ELERICRCEARSI I

Options :

1. % 5 gfa=rd




2. 0 gfaerd
3. % 10 gfad
4. % 15 gfa=rd

Question Number : 88 Question Id : 97675532176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following will have the highest discount percentage?
Options :

1. ¥ Marked price = 4100, selling price = 3567

2. # Marked price = 5200, selling price = 4628

3. ¥ Marked price = 6300, selling price = 5229

4. % Marked price = 5700, selling price = 4959

Question Number : 88 Question Id : 97675532176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeied o 9 forad ge ufawrd sifiean g2
Options :

1. % 3ifdhd G = 4100, fashd e = 3567

2. % 3ifhd ged = 5200, fashd o4 = 4628

3. ¢ 3ifbd G4 = 6300, fashd Tl = 5229

4. % 3ffed eI = 5700, faehd el = 4959

Question Number : 89 Question Id : 97675532177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average of the three numbers A, B and C is 52. A is 8 more than the average of B and C. B is 6 more than the average of B and C. What is
the difference between A and C?

Options :
1. % 22
2.¥ 14



3. % 17
4. % 20

Question Number : 89 Question Id : 97675532177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T TBI3T A, B AT C HT A 5281 A, B TUTC P 3 F 8 3B 81 B, BAUTC & 3 W 6 3HfUF 51 A TUT C & T BT 3R T 62
Options :

1. % 22

2.9 14

3. % 17

4. % 20

Question Number : 90 Question Id : 97675532178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

M is 40 percent less than N. If value of M is 600, then what is the value of N?
Options :

1. * 900

2. % 100

3. % 1000

4. % 1100

Question Number : 90 Question Id : 97675532178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

M, N ¥ 40 UTI=Id 9 & | AfE M BT HM 600 &, T N BT HH M52
Options :

1. % 900

2. % 100

3.9 1000



4. * 1100

Question Number : 91 Question Id : 97675532179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rohit gives 30 percent of a amount to his wife, 20 percent to his daughter and 50 percent of the remaining part to his son. If Rohit is left with Rs.
1280, then how much amount did Rohit have in the beginning?

Options :

1. ¥ Rs. 5200
2. % Rs. 5120
3. % Rs. 5510
4. % Rs. 5210

Question Number : 91 Question Id : 97675532179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR b H=RIMRT BT 30 =T 3O Telt b, 20 TFARI ST Gt Y T 2 §Y HIT BT 50 WA 307 T B1 ¢ a1 21 Afe AR & ury
1280 ¥UY & &, Al URY H fgd & U fobat erRify oo

Options :

1. % 5200 307
2.+ 5120 39T
3. % 5510 390
4. % 5210900

Question Number : 92 Question Id : 97675532180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is correct?
L. If A is 20 percent more than B and C is 35 percent less than B, then C will be 22 percent less than A.
II. Price of sugar is increased by 150 percent. To keep the expenditure same, the consumption of sugar should be decreased by 60 percent.

Options :
1. % Only I



2.9 Only II
3. % Bothland II
4. % Neither I nor 11

Question Number : 92 Question Id : 97675532180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafea § o= T ey I8 82
1. afe A, B 20 ufawra siffiw g duT ¢, B Y 35 UfaRid A 8, A C, A T 22 UfA=Id &4 gRT|
1. TS =t BT H 150 U< § S T 7, 3 W I 384 & forg A+ o) wua &t 60 ufawra § &1 A1 g |

Options :

1. % Had I

2. ¢ HAd Il

3. % [ QU Gl
4. ® qIAIATA

Question Number : 93 Question Id : 97675532181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a shop, there are four types of shirts, blue shirts are half of the black shirts. Brown shirts are (1/8) of Pink shirts. Black shirts are four times of
Brown shirts. If Black shirts are 100, then Brown shirt and Pink shirt together are what percentage of the total number of shirts?

Options :

1. #* 45 percent
2. % 50 percent
3. % 60 percent
4. % 47.5 percent

Question Number : 93 Question Id : 97675532181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

H IR UHR B C g | el S DI [ Bt 3M1ef g1 U S, el ]S B (1/8) B | BT e, YT /S P14 TAT ]| TS HIch /S
100?q IE 3R T[ATST TS GHI HATHR Hdl RS DI AT B! favdit Wia=Id 82



Options :

1. % 45 gfard
2. % 50 gfard
3. ¢ 60 Ufa=Id
4. % 475 gfad

Question Number : 94 Question Id : 97675532182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Raman sold an article for Rs. 400 at the loss of 37.5 percent. At what price he bought the article?
Options :

1. ¥ 640

2. % 200

3. % 400

4. % 460

Question Number : 94 Question Id : 97675532182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A A U a%q 37.5 UfA=Id &1 81 R 400 0 H o | I o [ d T IR Wil o
Options :

1. ¥ 640

2. % 200

3. % 400

4. % 460

Question Number : 95 Question Id : 97675532183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Selling price of an article is Rs. X and profit earned on this article is Rs. P. If selling price of this article becomes Rs. 2X, then profit earned on
this article will become Rs. 5P. What is the initial profit percentage?

Options :



1. # 25 percent
2. ¥ 33.33 percent
3. % 40 percent
4. ¥ 16.66 percent

Question Number : 95 Question Id : 97675532183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T I 1 [ashd e X T3 § U1 39 a¥g TR HHRT T aH P 203 § | Afe 39 I BT a6 T 2X T3 g1 SE, df 39 3% W
ST T ATH 5P =03 g1 ST | RIS A1y Hia=Td &1 52
Options :

1. % 25 gfard
2. ¢ 33.33 gfa=rd
3. % 40 gfa=rd
4. % 16.66 Ufd2rd

Question Number : 96 Question Id : 97675532184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Aman sells an article at the profit of 25 percent. If he reduces the cost price and selling price both of this article by Rs. 200, then he will earn a
profit of 50 percent. What is the initial cost price of this article?

Options :

1. # Rs. 200
2. ¥ Rs. 400
3. % Rs. 300
4, % Rs. 500

Question Number : 96 Question Id : 97675532184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 25 TA=Td & T TR U 9% 99l & | Afe 98 39 g & hd Hed 9T fasha e aF1 1 200 ¥ 9 g7 <dT §, O 39 50 Ha=rd &1
ATH BT 3 I 1 SRS 58 T T 52




Options :

1. % 200 0
2. ¥ 400 &TY
3. % 300 ®0Y
4. % 500 0

Question Number : 97 Question Id : 97675532185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ifx:y:z=2:1:3,then whatis 3x : 2y : 4z?

Options :

1.¥3:1:6
2.%6:1:3
3.%3:1:7
4. % 5:3:2

Question Number : 97 Question Id : 97675532185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g x:y:z=2:1:3%, AN 3x:2y: 4z FT?

Options :

1.¥3:1:6
2.%6:1:3
3.%3:1:7
4. % 5:3:2

Question Number : 98 Question Id : 97675532186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rs. 9400 is divided among X, Y and Z such that 3 times of X’s share is equal to 4 times of Y’s share which is equal to 5 times of Z’s share. What
is the share of Y?

Options :



1. #* Rs. 4000
2. % Rs. 2400
3. ¥ Rs. 3000
4. % Rs. 1200

Question Number : 98 Question Id : 97675532186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9400 TP X, Y AU Z H A PR AT TN B X F R P3N Y F R F 4 TN I RR AN 2 F G & 5 TN Rk gl Y
& fewan |1 52

Options :

1. % 4000 30

2. % 2400 30

3. ¥ 3000 3UY

4. % 1200 30

Question Number : 99 Question Id : 97675532187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sum of Rs. 2752 is divided among X, Y and Z such that if Rs. 14, Rs. 10 and Rs. 8 be diminished from the shares of X, Y and Z respectively,
then their shares will be in the ratio 8 : 6 : 3. What is the new share of Z?

Options :

1. ¥ Rs. 480
2. % Rs. 488
3. * Rs. 498
4. % Rs. 504

Question Number : 99 Question Id : 97675532187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2752 FUY DI AR DI X, Y qUT 2 § 39 YR faHTa foban man g fb afe X, v aur z & ol 7 O A 14 30T, 10 TUY qUT 8 FUT HH
R AT, A 37 R 8 : 6: 3 F IAd A 1| Z FT a1 RRAT |1 82



Options :

1. ¢ 480 39U
2. % 488 %04
3. % 498 ¥0Y
4. % 504 309

Question Number : 100 Question Id : 97675532188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is correct?
I. 3 numbers are in the ratio 2 : 3 : 7. If the sum of the numbers is 288, then the smallest number is 48.
II. Ages of A and B are in ratio 5 : 7. After 5 years, their ages will be in ratio 3 : 4. The difference in the present ages is 10 years.

Options :

1. % Only I

2. % Only II

3. % Both I and I
4. #® Neither I nor II

Question Number : 100 Question Id : 97675532188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed & 9 oiF w1 ud 82

L3TAE 2 : 37 % U | g | TS T=mail 1SS 288§, Ted DIt WA 48 B |

I1. A TUT B B 3T BT IATT 5 : 7 51 5 T GYT, SDT 3R 3 : 4 P U & 81T | SAD! acra G H 10 98 HT SR B
Options :

1. % PHadl
2. % Had Il
3. 1AUT ISl
4. % 18I




Arithmetic Ability2

Group Number : 6

Group Id : 976755947
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

Arithmetic Ability2

Section Id : 9767551377
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 9767551608
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 97675532189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

At Simple Interest, a certain sum amounts to Rs. 620 in 4 years and to Rs. 720 in 5 years. What is the sum?
Options :

1. # Rs. 100

2. ¥ Rs. 220



3. # Rs. 400
4. * Rs. 450

Question Number : 101 Question Id : 97675532189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TIYRT 4TS R U A2 iR 4 a9 & 620 =92 quT 5 a8t & 720 3 81 97l g IR A1 82
Options :

1. % 100 >0Y
2. ¥ 22030
3. % 400 304
4. % 450 397

Question Number : 102 Question Id : 97675532190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is correct?

L. If at compound interest(compounding annually) a sum of money becomes 3 times of itself in 6 years, then it will become 27 times of itself in
18 years.

II. If at Simple interest a sum of money becomes 3 times of itself in 8 years, then it will become 8 times of itself in 21 years.

Options :

1. ¥ Only I

2. % Only I

3. % BothIandII
4. * Neither I nor II

Question Number : 102 Question Id : 97675532190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafaRad & 9 oF 91 HuF 981 82
1. ¢ Thqfa STl (AT TgToi ) IR U A1 6 I8 J X198 &1 3 T 81 ol &, df 98 18 TN | wad DT 27 AT 81 e |
I1. IS RO TS IR T M 8 TN H W &1 3 AT 81 ol &, df T8 21 I | wad BI § AT 81 Sav |




Options :

1. ¥ Hadl

2. % Had Il

3. % [ UGl
4. % qIGIIATRIII

Question Number : 103 Question Id : 97675532191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sum of Rs. 20000 is kept on compound interest for 2 years. The rate of interest is 20 percent per annum. If compounding is done half yearly,
then what is the amount?

Options :

1. ¥ Rs. 29282
2. % Rs. 26000
3. % Rs. 28000
4, % Rs. 30384

Question Number : 103 Question Id : 97675532191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

200(%)Fqﬁﬁwﬂﬁraﬁzaﬁ$mdqoqﬂ§ STST UR T T 8 | 7T bt ) 20 Uaerd i aef g1 afe aer oref anftfes &, o fiysrer
1 5?

Options :

1. ¥ 29282 3T

2. % 26000 3T

3. % 28000 ¥UY

4. % 30384 304

Question Number : 104 Question Id : 97675532192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A train of length 450 metres crosses a platform in 77 seconds. If the speed of train is 36 km/hr, then what is the length of platform?



Options :

1. # 280 metres
2. ¥ 320 metres
3. % 350 metres
4. # 380 metres

Question Number : 104 Question Id : 97675532192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH 450 Hick THII YIS Uh WehTH Bl 77 AHUS A UR Hal ¢ | Afe Xemet & Tfd 36 1 1 /e B, af WehrH & awls o 82
Options :

1. % 280 Hlcx

2. ¥ 320 HIR

3. % 350 AR

4. % 330 IR

Question Number : 105 Question Id : 97675532193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Q starts moving from a point at 9:00 AM at the speed of 50 km/hr. R starts from the same point moving in the same direction as Q at 9:30 AM. If
R catches Q at 2:30 PM on the same day, then what is the speed of R?

Options :

1. # 45 km/hr
2. % 75 km/hr
3. # 60 km/hr
4. ¥ 55 km/hr

Question Number : 105 Question Id : 97675532193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Q, 9:00 JaTg, TR TH foig ¥ 50 fop. Ht/eieT &1 i | I = &l g | R 34T fog T 9:30 AT TR Q &t THH o= H 71 & axdl |
gfe R, Q B GHM fa TR 2:30 3WRTE R UHS AdT g, ol R D1 T o1 82




Options :

1. % 45 fo ot Ae
2. % 75 o ot et
3. % 60 fo il /der
4. 55T W AT

Question Number : 106 Question Id : 97675532194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Train A and B are 500 km apart. Speed of train A is 40 km/hr and speed of train B is 60 km/hr. Which of the following is correct?

I. Trains starts moving towards each other. Train A starts at 7:00 AM and train B at 8:00 AM. Before the trains meet, train A will cover 224 km.
II. Trains starts moving in same direction. Train B is coming towards train A. If they start at same time, then train B will travel 1500 km before
catching train A.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 106 Question Id : 97675532194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g@%%mawgﬂiﬁsooﬁﬂﬂ.ﬁgﬁw?ﬂiﬂ?ﬂ@,ﬂAﬁnﬁmoﬁmﬂﬁia%a%nmlaﬁvﬁmoﬁnﬂ/w%lﬁﬂ;ﬁﬁ?ﬂﬁ@r
a1 ?
I.WwﬁﬁmW%W%WAmomWHmmBs;oougfawm%q‘fé?ﬁraﬁﬁtrg@r,mA
224 fH . g |

11 YTt GAM fE=T H TeiT TR Bl § | TSt B, JeATS! A B a¥t 376! ¢ | I 98 U & THY & B, dl JTS! A &l Uhg
I Ugd Yame! B 1500 o Ht. g &t

Options :

1. % FHadl

2. % HAd II

3. ¢ QYT I gl




4. % ATEIIATSII

Question Number : 107 Question Id : 97675532195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a pipe can empty a completely filled tank in 40 hours, then this pipe can empty what part of the tank in one hour?
Options :

1. ¥ 1/40

2. % 1/20

3. % 1/30

4. % 1/50

Question Number : 107 Question Id : 97675532195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ife TP UTSY Th Y1 k8 R §U b Dl 40 °e H TTelt P Jobdl &, Al I8 UI3U Th °¢ H ¢ o [ [oed Pl Wrell bR Gehall 52
Options :

1. ¥ 1/40

2. % 1/20

3. % 1/30

4. % 1/50

Question Number : 108 Question Id : 97675532196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A pipe can empty a tank in 35 hours and another pipe can empty the same tank in 21 hours. If both the pipes are opened simultaneously, then in
how much time the tank will be emptied?

Options :

1
12— hours
3



11— hours
8

1
13— hours
8

1
14 — hours
3

Question Number : 108 Question Id : 97675532196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS UTSY 35 °¢ T Th ¢ & Well DR Gohdl § 3R Th ga”l 13y 21 6 T I ¢ B WMl X Ahell ¢ | IS g1 U1y Udh 1 @il ol
g, A1 ¢ fha- Hg & |rell g1 S

Options :

1 .
12— ¢
8

1 .
11- ¢
8



13

oD | =

3.¢

1 .
14— ¢

Question Number : 109 Question Id : 97675532197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A can do a work alone in 20 days. B can do the same work alone in 30 days. They start working together and work for 3 days. What percent of
work is completed?

Options :
1. ¥ 25
2. % 30
3. % 50
4. % 40

Question Number : 109 Question Id : 97675532197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A TS BT B 3fhar 20 foT A HR THd1 81 B S BT BT e 30 foA & R Twa1 § 1 3 1Y ST 1 Y& I & 9T 3 &7 b wrd
T & | BT BT b1 Ufa=Td TRT g3 82

Options :

1.¥ 25

2. % 30

3. % 50

4.% 40




Question Number : 110 Question Id : 97675532198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

15 boys can complete a work in 12 days. They started the work together, but after 4 days 5 more boys joined this work. How many days will
these 20 boys take to complete the remaining work?

Options :

1. ® 10 days
2. % 8 days
3. ¥ 6 days
4. % 5 days

Question Number : 110 Question Id : 97675532198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

15 a5 12 fa 7 U o1 [ R Tohd § 1 I TH 1Y B 3= b, Afep 4 fEA 918 5 3R dsdh 39 S H 2nfie 81 U1 Ay
DI R B & [T TG 20 TSD fabeA T a2

Options :

1. % 10feT
2. % gfed
3.¢ 6faA
4. % sfeq

Question Number : 111 Question Id : 97675532199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The height of a cone is four times of its radius. If the cone is melted to form a sphere, then what is the ratio of the radius of the sphere to the
radius of the cone?

Options :
1.¥1:1
2.% 211
3.%1:4
4. % 4:1



Question Number : 111 Question Id : 97675532199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
wsei@%ﬁ&méwoﬂﬁwaﬁaww%aﬁa@ﬁwﬂwwﬁ%ﬁmﬁmmw%ﬁﬁﬁaﬁﬁwm&@aﬁﬁwﬁw
SJUld &?

Options :

1.¥1:1
2.% 211
3.%1:4
4. % 4:1

Question Number : 112 Question Id : 97675532200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is correct?

I. A spherical lead ball of radius 6 cm is melted and small lead balls of radius 3 mm are made. Total possible number of small balls is 6000.

II. A circular wire of radius 49 cm is cut and bent in the form of a rectangle whose sides are in the ratio of 4 : 7. Smaller side of rectangle is 56
cm.

Options :

1. % OnlyI

2. % Only II

3. % BothIand II
4. % Neither I nor II

Question Number : 112 Question Id : 97675532200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed § I &1 1 S 981 82
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Options :

1. % FHadl

2. ¥ Had Il

3. % [ UGl
4. % qGIIATRIII

Question Number : 113 Question Id : 97675532201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct?

I. The perimeter of a rectangular plot is 48 metre and area is 108 metre?. The dimensions of the plot are 18 metre and 6 metre.
I1. If the radius of a cylinder is doubled and the height remains same, the volume will be 2 time.

Options :

1. ¥ Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 113 Question Id : 97675532201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafea d o T sy I8 82

1. U TIATHR Wie BT URHTY 48 T4}, 8 TUT 8% 108 HY.2 § | Wile o1 3 18 Hiex dut 6 HieX 71
1. I1¢ TH S0 DT 501 SR B & ST 9T SHa1s FHH g, df S$ad- 2 T 81|

Options :

1.« Had 1

2. % HAdII

3. % [ UGl

4. % qEIIATR I

Question Number : 114 Question Id : 97675532202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is correct?

[. Two circular cylinder of equal volume have their
heights in the ratio 1 : 2. Ratio of their radii is 3 : 1.

II. Each side of an equilateral triangle is 6 cm. Area of
equilateral triangle is 93 cm?.

Options :

1. % Only I

2.% Only II

3. % BothIandII

4. ® Neither I nor 11

Question Number : 114 Question Id : 97675532202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % FHadl

2. ¢ Had 11

3. % [QUT I gl
4. % 1B



Question Number : 115 Question Id : 97675532203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The pie chart given below shown the number of articles sold by 6 shopkeepers. Number of articles are shows as a percentage of total number of
articles sold by these 6 shopkeepers.

If the number of articles sold by K are 1440, then what are the total number of articles sold by these 6 shopkeepers?
Options :

1. % 14800

2. % 16000

3.9 12000

4. % 12600

Question Number : 115 Question Id : 97675532203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 14800

2. % 16000

3. ¢ 12000

4. % 12600

Question Number : 116 Question Id : 97675532204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The pie chart given below shows the number of restaurants in 7 states. Number of restaurants are shown as a percentage of total number of
restaurants in these 7 states.



What is the difference between the central angles formed by S1 and S7?
Options :

1. # 72.4 degrees

2. ¥ 50.4 degrees

3. % 43.2 degrees

4. % 63.2 degrees

Question Number : 116 Question Id : 97675532204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 72.4 1S5

2. ¢ 50.4 TS

3. % 432 f&ht

4. % 632 fS

Question Number : 117 Question Id : 97675532205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The pie chart given below shows the number of tyres manufactured by 8 factories. Number of tyres are shown as a percentage of total number of
tyres manufactured by these 8 factories.



Which of the following statement is correct?

I. Ratio of number of tyres manufactured by F6 to the number of tyres manufactured by F2 is 3 : 4
II. Total central angle formed by F3, F1 and F5 is 106 degrees

II1. Number of tyres manufactured by F6 are 120 percent of the number of tyres manufactured by F8

Options :

1. # Both I and III
2. Only III

3. % Both II and III
4. % BothIandII

Question Number : 117 Question Id : 97675532205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % [ qUT I gl
2. ¥ Had Il

3. % [[ YT 101 G
4. % [QUTII ST

Question Number : 118 Question Id : 97675532206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The pie chart given below shows the population of 6 states. Population of a particular state is shown as a percentage of total population of these 6
states.



Which of the following statement is correct?

L. If total population of A and B 1s 90000, then the total population of these 6 states is 300000
II. Total population of D and C is 40.91 percent less than the total population of E and F

III. Difference between the central angles formed by E and F is 64.8 degrees

Options :

1. # Both I and III
2. % Only II

3. % Both II and III
4. % 1, 1I and III

Question Number : 118 Question Id : 97675532206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % [ YT 11 gAY

2. % Had Il

3. % [1dYT M1 Gl

4.9 LI AU I

Question Number : 119 Question Id : 97675532207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The line graph given below shows the number of medicine of 6 different types available in a shop.
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What is the ratio of number of medicine available of D3 to the number of medicine available of D6?
Options :

1. % 8.
2. % 7.
3.8
4. % 9

o O o0

Question Number : 119 Question Id : 97675532207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 8:7
2. % 7:8
3.8:9
4. % 9:8

Question Number : 120 Question Id : 97675532208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There is a leak in the bottom of the tank. This leak can empty a full tank in 8 hours. When the tank is full, a tap-in is opened into the tank which
admits 10 liters per hour into the same tank and the tank is then emptied in 12 hours. What is the capacity of the tank?

Options :

1. % 280 liters
2. % 250 liters
3. % 200 liters
4. ¥ 240 liters



Question Number : 120 Question Id : 97675532208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 280 ¥lcX
2. % 250 Al
3. % 200 e
4. ¢ 240 AR
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Question Number : 121 Question Id : 97675532209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
Please wait for (1)/a while, my (2)/mother cooks food (3)/.No error (4)

Options :
1. %1
2.% 2
3.3
4. % 4

Question Number : 121 Question Id : 97675532209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
Please wait for (1)/a while, my (2)/mother cooks food (3)/.No error (4)

Options :
1. %1
2.% 2
3.3
4. % 4

Question Number : 122 Question Id : 97675532210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
You cannot make it (1)/at time because (2)/of traffic problems (3)/.No error (4)



Options :
1. % 1
2.9 2
3.%3
4. % 4

Question Number : 122 Question Id : 97675532210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
You cannot make it (1)/at time because (2)/of traffic problems (3)/.No error (4)

Options :
1. % 1
2.9 2
3.%3
4. % 4

Question Number : 123 Question Id : 97675532211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
Neither of the workers (1)/in the office (2)/are coming to work (3)/.No error (4)

Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 123 Question Id : 97675532211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
Neither of the workers (1)/in the office (2)/are coming to work (3)/.No error (4)



Options :
1. #* 1
2.% 2
3.3
4. % 4

Question Number : 124 Question Id : 97675532212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
I can assure you that staying at (1)/ home is one of the most effective way (2) to slow the spread of this virus (3)/.No error (4)

Options :
1. #* 1
2.% 2
3.%3
4. ¥ 4

Question Number : 124 Question Id : 97675532212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
I can assure you that staying at (1)/ home is one of the most effective way (2) to slow the spread of this virus (3)/.No error (4)

Options :
1. #* 1
2.% 2
3.%3
4. ¥ 4

Question Number : 125 Question Id : 97675532213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).



The color of your chair would change (1)/from red to blue whether you modified (2)/the molecular structure of its dye (3)/.No error (4)
Options :

1. % 1

2.¥2

3.%3

4. % 4

Question Number : 125 Question Id : 97675532213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
The color of your chair would change (1)/from red to blue whether you modified (2)/the molecular structure of its dye (3)/.No error (4)

Options :
1. % 1
2.¥2
3.%3
4. % 4

Question Number : 126 Question Id : 97675532214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
We can make this world (more beautiful) for us.

Options :

1. # much beautiful
2. ®# more beauty
3. # too beautiful

4. ¥ No improvement

Question Number : 126 Question Id : 97675532214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
We can make this world (more beautiful) for us.

Options :

1. # much beautiful
2. # more beauty
3. # too beautiful

4. ¥ No improvement

Question Number : 127 Question Id : 97675532215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
I was still standing in the queue when the (play was starting).

Options :

1. ¥ play started

2. # play had started
3. % play start

4. ¥ No improvement

Question Number : 127 Question Id : 97675532215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
I was still standing in the queue when the (play was starting).

Options :

1. ¥ play started

2. # play had started
3. % play start

4. ¥ No improvement

Question Number : 128 Question Id : 97675532216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
The mother of a three-year-old girl has (died from) cancer.

Options :

1. # die from
2. ¥ died of
3. # died with

4. % No improvement

Question Number : 128 Question Id : 97675532216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
The mother of a three-year-old girl has (died from) cancer.

Options :

1. # die from
2. ¥ died of
3. # died with

4. % No improvement

Question Number : 129 Question Id : 97675532217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
Suman (would have been looked) gorgeous in modern clothes.

Options :

1. ¥ would have looked
2. # would has looked
3. # will have look

4. % No improvement

Question Number : 129 Question Id : 97675532217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
Suman (would have been looked) gorgeous in modern clothes.

Options :

1. ¥ would have looked
2. % would has looked
3. # will have look

4. ¥ No improvement

Question Number : 130 Question Id : 97675532218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
She was (compelled off make) an application to avoid automatic suspension under the rule.

Options :

1. ¥ compelled for making
2. % compelled to make

3. % compel to make

4. ¥ No Improvement

Question Number : 130 Question Id : 97675532218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
She was (compelled off make) an application to avoid automatic suspension under the rule.

Options :

1. ¥ compelled for making
2. % compelled to make

3. % compel to make

4. ¥ No Improvement

Question Number : 131 Question Id : 97675532219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
The goons me rapidly and hard.

Options :
1. ¢ hit

2. % calm
3. % pass

4. * impact

Question Number : 131 Question Id : 97675532219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
The goons me rapidly and hard.

Options :
1. ¢ hit

2. % calm
3. % pass

4. * impact

Question Number : 132 Question Id : 97675532220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
Beets produce chemical compounds betalains.

Options :
1. * asked
2. % say
3. * told
4. ¥ called

Question Number : 132 Question Id : 97675532220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
Beets produce chemical compounds betalains.

Options :
1. # asked
2. % say
3. % told
4, ¥ called

Question Number : 133 Question Id : 97675532221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
If1 your sister, I would have given my dress to you.

Options :
I. # am

2. ¥ were
3. % was

4. % 18

Question Number : 133 Question Id : 97675532221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
If1 your sister, I would have given my dress to you.

Options :
I. # am

2. ¥ were
3. % was

4. % 18



Question Number : 134 Question Id : 97675532222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
I am looking forward to your parents.

Options :

1. # watch

2. ¥ meeting
3. % stretching
4. ® hear

Question Number : 134 Question Id : 97675532222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
I am looking forward to your parents.

Options :

1. # watch

2. ¥ meeting
3. % stretching
4. ® hear

Question Number : 135 Question Id : 97675532223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
He cannot make it to the meeting he has taken ill.

Options :

1. % that

2. % lest

3. % because
4. # rather



Question Number : 135 Question Id : 97675532223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
He cannot make it to the meeting he has taken ill.

Options :
1. # that
2. % lest
3. ¥ because

4. % rather

Question Number : 136 Question Id : 97675532224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rearrange the parts of the sentence in the correct order.
The merchants cheated

P. continuing to receive

Q. the law by

R. in by pirates

S. currency smuggled

Options :

1. ¥ PSQR
2. % QPSR
3. * PRQS
4. % SRQP

Question Number : 136 Question Id : 97675532224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rearrange the parts of the sentence in the correct order.
The merchants cheated

P. continuing to receive

Q. the law by



R. in by pirates
S. currency smuggled

Options :

1. # PSQR
2. ¥ QPSR
3. # PRQS
4. ¥ SRQP

Question Number : 137 Question Id : 97675532225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.
The perception of

P. monopoly drove the

Q. conservative colonial

R. traders into an

S. alliance with radicals

Options :

1. % SQRP

2. % QRPS

3. ¥ PQRS

4. % RPQS

Question Number : 137 Question Id : 97675532225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rearrange the parts of the sentence in the correct order.
The perception of

P. monopoly drove the

Q. conservative colonial

R. traders into an

S. alliance with radicals

Options :
1. # SQRP



2. % QRPS
3. ¢ PQRS
4. % RPQS

Question Number : 138 Question Id : 97675532226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rearrange the parts of the sentence in the correct order.
The government’s efforts

P. only to unite

Q. the people

R. to punish, served

S. and instigate the war

Options :

1. % PRQS
2. % SRQP
3. % PQRS
4. ¥ RPQS

Question Number : 138 Question Id : 97675532226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rearrange the parts of the sentence in the correct order.
The government’s efforts

P. only to unite

Q. the people

R. to punish, served

S. and instigate the war

Options :

1. % PRQS
2. % SRQP
3. % PQRS
4. ¥ RPQS



Question Number : 139 Question Id : 97675532227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

P. Paul Revere was one of America’s greatest artists in silver.

Q. Although it was in metal that Revere did most of his work, his energy and skill turned him in many directions.

R. He not only made silver articles but also crafted surgical instruments and engraved copper plates.

S. As a boy Revere received sufficient education to enable him to read the metallurgical books.

Options :

1. ¥ PSQR
2. % QPSR
3. % PRQS
4. % SRQP

Question Number : 139 Question Id : 97675532227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

P. Paul Revere was one of America’s greatest artists in silver.

Q. Although it was in metal that Revere did most of his work, his energy and skill turned him in many directions.

R. He not only made silver articles but also crafted surgical instruments and engraved copper plates.

S. As a boy Revere received sufficient education to enable him to read the metallurgical books.

Options :

1. ¥ PSQR
2. % QPSR
3. % PRQS
4. % SRQP

Question Number : 140 Question Id : 97675532228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that means the same as the given word.
Scornful



Options :

1. * Surround
2. ¥ Arrogant
3. % Surmount
4. % Apathy

Question Number : 140 Question Id : 97675532228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that means the same as the given word.
Scornful

Options :
1. * Surround
2. ¥ Arrogant

3. # Surmount

4. % Apathy
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Question Number : 141 Question Id : 97675532229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that means the same as the given word.
Scribble

Options :

1. # Portray
2. % Phish
3. % Doodle
4. % Prattle

Question Number : 141 Question Id : 97675532229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that means the same as the given word.
Scribble

Options :

1. # Portray
2. % Phish
3. % Doodle
4. % Prattle



Question Number : 142 Question Id : 97675532230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that is opposite in meaning to the given word.
Grieve

Options :

1. ¥ Mourn

2. % Pleasing
3. % Wit

4. ¥ Rejoice

Question Number : 142 Question Id : 97675532230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that is opposite in meaning to the given word.
Grieve

Options :

1. ¥ Mourn

2. % Pleasing
3. % Wit

4. ¥ Rejoice

Question Number : 143 Question Id : 97675532231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that is opposite in meaning to the given word.
Graphic

Options :

1. ¥ Sketchy

2. # Demean

3. # Release

4. ® Rejoin



Question Number : 143 Question Id : 97675532231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that is opposite in meaning to the given word.
Graphic

Options :

1. ¥ Sketchy

2. # Demean

3. # Release

4. % Rejoin

Question Number : 144 Question Id : 97675532232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Oportunity

2. ¥ Opportunity

3. % Opporrtunity

4. ¥ Opurtunity

Question Number : 144 Question Id : 97675532232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Oportunity

2. % Opportunity

3. % Opporrtunity

4. ¥ Opurtunity

Question Number : 145 Question Id : 97675532233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Guerilla

2. # QGuerrila

3. % Guerrilla

4. # Guerila

Question Number : 145 Question Id : 97675532233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Guerilla

2. # Guerrila

3. ¥ Guerrilla

4. # Guerila

Question Number : 146 Question Id : 97675532234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Squaddron

2. ® Squadrron

3. % Squoadron

4. ¥ Squadron

Question Number : 146 Question Id : 97675532234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Squaddron

2. ®% Squadrron

3. % Squoadron

4. ¥ Squadron

Question Number : 147 Question Id : 97675532235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. ¥ Incomprehensible

2. % Incomprehennsible

3. # Incomprehenssible

4. % Incommprehensible

Question Number : 147 Question Id : 97675532235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. ¥ Incomprehensible

2. # Incomprehennsible

3. % Incomprehenssible

4. # Incommprehensible

Question Number : 148 Question Id : 97675532236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
Make mouth water



Options :

1. # Quarrelling with someone
2. ¥ Make someone hungry

3. % Make someone livid

4. # To avoid argument

Question Number : 148 Question Id : 97675532236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
Make mouth water

Options :

1. # Quarrelling with someone
2. ¥ Make someone hungry

3. % Make someone livid

4. # To avoid argument

Question Number : 149 Question Id : 97675532237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
Hold Your Horses

Options :

1. # To run a marathon
2. % Easily flourishing
3. ¥ Be patient

4. # Aggressive ownership

Question Number : 149 Question Id : 97675532237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
Hold Your Horses



Options :

1. # To run a marathon
2. % Easily flourishing
3. ¥ Be patient

4. % Aggressive ownership

Question Number : 150 Question Id : 97675532238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
Have an axe to grind

Options :

1. # Giving undue importance to something
2. % Find something complicated

3. ¥ Something to complain about

4. % React optimistically

Question Number : 150 Question Id : 97675532238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
Have an axe to grind

Options :

1. # Giving undue importance to something
2. % Find something complicated

3. ¥ Something to complain about

4. % React optimistically

Question Number : 151 Question Id : 97675532239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.



Bite Your Tongue

Options :

1. ®¥ To chat loudly

2. % Making something worse
3. % To injure oneself

4. ¥ Avoid talking

Question Number : 151 Question Id : 97675532239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
Bite Your Tongue

Options :

1. ®¥ To chat loudly

2. % Making something worse
3. % To injure oneself

4. ¥ Avoid talking

Question Number : 152 Question Id : 97675532240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
That which cannot be noticed

Options :

1. ¥ Imperceptible
2. # Impracticable
3. # Inimitable

4. ¥ Improbable

Question Number : 152 Question Id : 97675532240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Choose the word that can substitute the given sentence.
That which cannot be noticed

Options :

1. ¥ Imperceptible
2. # Impracticable
3. % Inimitable

4. ¥ Improbable

Question Number : 153 Question Id : 97675532241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
Thing no longer in use

Options :

1. % Cynic

2. % Obsolete

3. ¥ Omnipotent
4. # Plutocracy

Question Number : 153 Question Id : 97675532241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
Thing no longer in use

Options :

1. % Cynic

2. % Obsolete

3. % Omnipotent
4. # Plutocracy

Question Number : 154 Question Id : 97675532242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Choose the word that can substitute the given sentence.
One who eats too much

Options :

1. # Obese

2. # Sacrilege
3. % Illegible
4. ¥ Glutton

Question Number : 154 Question Id : 97675532242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
One who eats too much

Options :

1. # Obese

2. # Sacrilege
3. % Illegible
4. ¥ Glutton

Question Number : 155 Question Id : 97675532243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
One who acts on behalf of organization

Options :
1. ¥ Delegate
2. % Sage
3. # Celebrity
4. % Celibacy

Question Number : 155 Question Id : 97675532243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
One who acts on behalf of organization

Options :
1. ¥ Delegate
2. % Sage
3. ® Celebrity
4. % Celibacy

Sub-Section Number : 2
Sub-Section Id : 9767551611
Question Shuffling Allowed : Yes

Question Id : 97675532244 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (156 to 160)

Read the following information carefully and answer the given questions.

Erno Rubik, born on July 13, 1944 in Budapest, Hungary, was the inventor of Rubik’s Cube, a popular toy of the 1980s. Rubik’s Cube consists of
26 small cubes that rotate on a central axis; nine coloured cube faces, in three rows of three each, form each side of the cube. When the cube is
twisted out of its original arrangement, the player must then return it to the original configuration, one among 43 quintillion possible ones.

The son of a poet mother and a glider-manufacturer father, Rubik studied sculpture at the Technical University in Budapest and architecture at the
Academy of Applied Arts and Design, also in Budapest. While a professor of design at the academy, he pursued his hobby of building geometric
models. One of these was a prototype of his cube, made of 27 wooden blocks; it took Rubik a month to solve the problem of the cube. It proved a
useful tool for teaching algebraic group theory, and in late 1977 Konsumex, Hungary’s state trading company, began marketing it. By 1980
Rubik’s Cube was marketed throughout the world, and over 100 million authorized units, with an estimated 50 million unauthorized imitations,
were sold, mostly during its subsequent three years of popularity. Approximately 50 books were published describing how to solve the puzzle of
Rubik’s Cube. Following his cube’s popularity, Rubik opened a studio to develop designs in 1984; among its products was another popular
puzzle toy, Rubik’s Magic.

Sub questions

Question Number : 156 Question Id : 97675532245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The aptest title for the passage is-
Options :

1. #* How to solve Rubik’s Cube?



2. % Life and death of Erno Rubik
3. % Erno Rubik and his invention
4. ® Rubik’s Cube in popular culture

Question Number : 157 Question Id : 97675532246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Based on the passage, where was the Rubik’s cube first utilized?
Options :

1. # It was used by Rubik to keep his students engaged.

2. % It was used to increase mindfulness.

3. ¥ It was used to teach algebraic group theory.

4. ® Tt was used for recreational purpose.

Question Number : 158 Question Id : 97675532247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When was the Rubik’s cube first marketed?
Options :

1. % 1944

2. % 1984

3. % 1980

4. v 1977

Question Number : 159 Question Id : 97675532248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following statement is correct?

Options :

1. ¥ Erno Rubik’s mother was a poet.

2. % Erno Rubik studied sculpture at the Academy of Applied Arts and Design.
3. ® Erno Rubik studied architecture at the Technical University in Budapest.

4. # Konsumexwas Germany’s state trading company.



Question Number : 160 Question Id : 97675532249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The synonym of the word “imitation” is?
Options :

1. ® Facade

2. ¥ Facsimile

3. * Faeces

4. * Ferocious

Question Id : 97675532244 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (156 to 160)

Read the following information carefully and answer the given questions.

Erno Rubik, born on July 13, 1944 in Budapest, Hungary, was the inventor of Rubik’s Cube, a popular toy of the 1980s. Rubik’s Cube consists of
26 small cubes that rotate on a central axis; nine coloured cube faces, in three rows of three each, form each side of the cube. When the cube is
twisted out of its original arrangement, the player must then return it to the original configuration, one among 43 quintillion possible ones.

The son of a poet mother and a glider-manufacturer father, Rubik studied sculpture at the Technical University in Budapest and architecture at the
Academy of Applied Arts and Design, also in Budapest. While a professor of design at the academy, he pursued his hobby of building geometric
models. One of these was a prototype of his cube, made of 27 wooden blocks; it took Rubik a month to solve the problem of the cube. It proved a
useful tool for teaching algebraic group theory, and in late 1977 Konsumex, Hungary’s state trading company, began marketing it. By 1980
Rubik’s Cube was marketed throughout the world, and over 100 million authorized units, with an estimated 50 million unauthorized imitations,
were sold, mostly during its subsequent three years of popularity. Approximately 50 books were published describing how to solve the puzzle of
Rubik’s Cube. Following his cube’s popularity, Rubik opened a studio to develop designs in 1984; among its products was another popular
puzzle toy, Rubik’s Magic.

Sub questions

Question Number : 156 Question Id : 97675532245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The aptest title for the passage is-
Options :

1. * How to solve Rubik’s Cube?

2. # Life and death of Erno Rubik



3. ¥ Erno Rubik and his invention
4. ® Rubik’s Cube in popular culture

Question Number : 157 Question Id : 97675532246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Based on the passage, where was the Rubik’s cube first utilized?
Options :

1. # It was used by Rubik to keep his students engaged.

2. % It was used to increase mindfulness.

3. ¥ It was used to teach algebraic group theory.

4. ® Tt was used for recreational purpose.

Question Number : 158 Question Id : 97675532247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When was the Rubik’s cube first marketed?
Options :

1. % 1944

2. % 1984

3. % 1980

4. v 1977

Question Number : 159 Question Id : 97675532248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following statement is correct?

Options :

1. ¥ Erno Rubik’s mother was a poet.

2. % Erno Rubik studied sculpture at the Academy of Applied Arts and Design.
3. % Erno Rubik studied architecture at the Technical University in Budapest.

4. # Konsumexwas Germany’s state trading company.



Question Number : 160 Question Id : 97675532249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The synonym of the word “imitation” is?
Options :

1. ® Facade

2. ¥ Facsimile

3. * Faeces

4. * Ferocious

General Hindil
Group Number : 9
Group Id : 976755950
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
General Hindil
Section Id : 9767551380
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response :

Yes



Sub-Section Number : 1
Sub-Section Id : 9767551612
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 97675532250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fow T 3 1 T e v
FHaThief

Options :

1. % W+aﬂ&ﬁ

2. % @ + Urohiafl

3. ¥ PUT + 3feniel

4. % P + UI3{TH I

Question Number : 161 Question Id : 97675532250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
feQ TTU Treg @1 Wi fade P
FuThief

Options :

1. ® Ul + Preft

2. % @ + Urohiafl

3.« PUT + 3faniel

4. % O + UI3{Th Il

Question Number : 162 Question Id : 97675532251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 77T 1o § IUT Fd PR
UIRgeHd

Options :



1.% 7
2. ¥ TR
3. % Hd
4. % Td

Question Number : 162 Question Id : 97675532251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 7T 1o & IUT Fd FIRTY
UeRaeHd

Options :
. %1

2. ¢ O
3. % qHd
4. % Hd

Question Number : 163 Question Id : 97675532252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad & ¥ o9 97 fau 7T Uy &1 318301 781 82
AIAd

Options :

1. % Ugd

2. % feimaa

3. % dgdid
4. ¥ dgdpld

Question Number : 163 Question Id : 97675532252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRofefead & ¥ o9 97 fau 7T Uy &7 31830 781 82



SAIAd
Options :

1. % UgId
2. % fefmd
3. % dgdidd
4, ¢ dghId

Question Number : 164 Question Id : 97675532253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad & @ &9 91 fg7] T &1 3arevul 18! 82
Options :

1. % grcled]

2. % QUG

3. % M

4. ¢ QR4

Question Number : 164 Question Id : 97675532253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiead & @ o9 91 fg] T &1 Ie18vul gl 82
Options :

1. % Trdlsdl

2. % U

3. % M

4. % QX4

Question Number : 165 Question Id : 97675532254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T 71T Yeg BT THH Weg 1A HifoIg |




4

SRE]
Options :
1. v 3ffaf
2. %
3. % Y
4, % 94

Question Number : 165 Question Id : 97675532254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f3T 77T Ysg BT THH Ysg JTd BT

A4

3G
Options :

1. ¥ 3fféf
2. % 97
3. % 9g
4. % Tg9

Question Number : 166 Question Id : 97675532255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U U Yo &t HIGdES T T DT |
fRrey

Options :

1. % gL
2. % fRIIuA
3. % TRRER
4. YT

Question Number : 166 Question Id : 97675532255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

QU TN Teg BT YIadTdP 3T J1d HIfSTT|
RE

Options :

1. % g

2. % fRIO

3. % TRQERAT

4. & QYTRT

Question Number : 167 Question Id : 97675532256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foam T ARy g bR & Fd-TH BT 318 §, JTd HITT|
et +ff g frare § at sram @ 9|

Options :

1. % Aar®
2. #® =YD
3. % YYdddh
4. ¥ FeYarad

Question Number : 167 Question Id : 97675532256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e a1 a1 fh g YhR & G0 BT IGER0T 8, e BTl
S ot ug fpare § af emer d@ 9|

Options :

1. ® fsfare
2. #® =YD
3. % YYdddh
4. ¢ GeYarad



Question Number : 168 Question Id : 97675532257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fa U 91 foRIv0r & {5 bR &1 I8 0T 8, J1d BT
I8 IR AT dTd IR & |

Options :

1. ¢ Af¥a SemarEs

2. % YT GAGED

3. % gRATUATID

4. % U dldd

Question Number : 168 Question Id : 97675532257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faTw U 91 foRIvUT & {6 UhR 1 IS8R0 8, J1d BT
I8 IR AT T B E |

Options :

1. ¢ [fgd =amares

2. % Y JEATaES

3. ® URHTUERS

4, % A dldd

Question Number : 169 Question Id : 97675532258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeiad & @ g ad- &1 99+ Bifr|
Options :

1. % §adl

2. 9l

3. % fagd

4. % §aR



Question Number : 169 Question Id : 97675532258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeiad & ¥ < ad- &1 99+ Bifr|
Options :

1. % §adt

2. ¥ Il

3. % ot

4. % §aR

Question Number : 170 Question Id : 97675532259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T 7T 31eg &1 faeH Yse F1d BT
g

Options :
1. ¥ 7Rq
2. % dgl
3. % 1=
4. % ol

Question Number : 170 Question Id : 97675532259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faT 7T g 1 faeH s F1d PITI
Tad

Options :
1. ¥ 7IRq
2. % dgl
3. % =



4. % Wl

Question Number : 171 Question Id : 97675532260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e 7Y <req 1 vigaTE A i
dd

Options :
1. % féfd
2. % HO®H
3. ¢ fool

4. % 1S

Question Number : 171 Question Id : 97675532260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fT 71U Trsg 7 i I ST

ad

Options :
1. % fafd
2. % HU®H
3. ¢ fgul
4. % TS

Question Number : 172 Question Id : 97675532261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faw Tu are 7 Rad wH o1 g S
JARGIARR,  3Hhd ol S|
Options :

1. & YUl



2. % A

3. % ik
4. % gy

Question Number : 172 Question Id : 97675532261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fu 7 I/ & Rad wiF &1 gfd Sifor|

qH HEd B, 3 Bl SIS |
Options :

1. % AUYl

2. % OHI

3. % o

4. % gy

Question Number : 173 Question Id : 97675532262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U 7T areg ¥ o ®F &1 gfd S|
i TgTd BN, qHAd] TR HEH A |

Options :
1. % dd
2.l

3. % 9ld

4. % JRRL

Question Number : 173 Question Id : 97675532262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu TTu g B e =i @t gfd S
gfe Ag-Td B, qhadl JeR Had A




Options :
1. % dd
2. ¥l

3. % 99

4. % JRRY

Question Number : 174 Question Id : 97675532263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f&T 71T eI o foTQ Sfeid Xeq BT T Hifoid |
S el A I T §

Options :

1. % 3fad

2. % HaRkd

3. % 3{Yal

4. % F&Id

Question Number : 174 Question Id : 97675532263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faQ U ITRITT o foTe Iferd Qeq b1 I BT
Il el Tl @1 R

Options :

1. % 3{ddXd

2. % FGRd

3. % 3dcql

4. % F&Id

Question Number : 175 Question Id : 97675532264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frafafad @ 9 &1 91 Wse T 9g1 181 82
Options :

1. % 3fIcI-3fel = §al-3(NT

2.  JHfeT-37cl = AR-T!

3. % TG-S = SRH-3ET

4. % SAVI-SdlG = PHA-TH%

Question Number : 175 Question Id : 97675532264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFoffed # 9 19 91 e g a1 781 87
Options :

1. % 3fIcI-3feT = §aI-3(NT

2. ¢ 3ffet-afell = AR-Tl

3. % 3M1f-3Mmd} = 3MRH-3nTxd

4. % SA-Sclq = PHA-TH

Question Number : 176 Question Id : 97675532265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f3u 7 g/ & Rad ®iE &1 gfd Sifr|
EGEll S

Options :

1. ¢ 3EDR

2. % X

3. % 3

4. % ST

Question Number : 176 Question Id : 97675532265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



faQ 7T areg ¥ e ®F &1 gfd S|
Sal 3BT T8l g

Options :

1. ¢ 3EHR

2. % IRA

3. % 3R

4. % Y

Question Number : 177 Question Id : 97675532266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

PV BT YA U] {5 PR &b A1 a1 w1 82
Options :

1. % Fal

2. ¥ B

3. % PO

4. % AUl

Question Number : 177 Question Id : 97675532266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI’ BT YINT TaT food pRb P 1Y forar S 82
Options :

1. % Hal

2. ¥ HH

3. % PO(

4. % SUTGH

Question Number : 178 Question Id : 97675532267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



JaH ¥ fobar & B9 A Heg Udhe B arel Ue gl
Options :

1. % JHTT gdqH

2. i gauE

3. % TR a9

4. % qof gddM

Question Number : 178 Question Id : 97675532267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AP H e A dcg Udbe o aa Ve g
Options :

1. % YU aaHH

2. ¢ Ty aAHH

3. % G IAHH

4. % Ul gqHH

Question Number : 179 Question Id : 97675532268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U 7TQ 2reg 1 WA I BT
ol

Options :

1. % duqy]
2.« AU
3. % qu¥gdt
4. % qUIHI

Question Number : 179 Question Id : 97675532268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



faT 7T Tsg 1 WA I BT
doal

Options :

1. ® duxm

2.« AU
3. % qu¥gdt
4. % qUIGI

Question Number : 180 Question Id : 97675532269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feq 7TQ Weq 1 SgaE F1d Bt
»d

Options :

1. % B3

2. Bl

3. % BIS

4. % Fql

Question Number : 180 Question Id : 97675532269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
QU 71T e DT Igdo AT DIfTT|
Bd

Options :

1. *= B3

2. ¥ B

3. % B

4. % gl




General Hindi2

Group Number : 10

Group Id : 976755951

Group Maximum Duration : 0

Group Minimum Duration : 120

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
General Hindi2

Section Id : 9767551381

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 16

Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 9767551613

Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 97675532270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faT U a1 1 Ue J1d P

Bd A9 R B

Options :

1. ¢ RIOmH®



2. % gof
3. % 3rquf
4. % A

Question Number : 181 Question Id : 97675532270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST U a1 T Ue [ i
B O R g

Options :

1. ¢ YIS
2. % gof

3. % 3quf

4. % A

Question Number : 182 Question Id : 97675532271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f&u T arem 1 gt 19 i
d% Hiagd faepd 7! fira|
Options :

1. % e

2. ¢ [fand®

3. % Jhdiie

4. % FYTISH

Question Number : 182 Question Id : 97675532271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f& U are w1 gf J1d B
I AiaTsd fyegpd et firerm|




Options :

1. % 3
2. ¢ [Afad®
3. % Yhard
4. % GygTd®

Question Number : 183 Question Id : 97675532272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu U e T fhd Uy &1 ISR B |
I% s IR I T E |

Options :

1. % 3dH

2. % HYH

3. % 3

4. % JYyy

Question Number : 183 Question Id : 97675532272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e arm & R fhd o0 &1 SRl 5|
IR P IR I T E |

Options :

1. % 3dH

2. % HYH

3. % 3

4. % YYyy

Question Number : 184 Question Id : 97675532273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frafeied o @ o 91 a9 Ygad a1 7ol 87
Options :

1. % g8 A UST 3R Ut 91 §T < |

2. ¢ W 3R T I S |

3. % T o al 98 Tb ¢ |

4. % Iqdb RR T g4 YT 3T 98 gU g

Question Number : 184 Question Id : 97675532273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafaRad & I &I 91 AT Igad a1 -To! 57
Options :

1. % g A TSI SR U+ §1d Far <t

2. ¢ W SR M ST S|

3. % HPHg dl 98 G & ol

4. % IYb R A <& Y1 3T 98 U @7

Question Number : 185 Question Id : 97675532274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faU 7Y a1y & YR B Ug< B |
Oq die] Goiill, a9 BT Wi
Options :

1. * HgHd

2. ¢ oy

3. % Judred

4. % Id

Question Number : 185 Question Id : 97675532274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



f3T 7T 91T & YR B! UgdH Hifod |
Oq dles! gah, dd ®IdT BRIg |
Options :

1. % Hgad

2.« 0y

3. % 3UdiE

4. % IWd

Question Number : 186 Question Id : 97675532275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T SUgad faded ¥ FRad R &1 gfed B
FU DI GG 7 TRBR DI SdT Bl |
Options :

1. % 3Bl | Ry fea

2. % ORI O ARy fe

3. ¢ offal | iy fgam

4. % 3@l H far fam

Question Number : 186 Question Id : 97675532275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ey I9gad famed I Rad ®IF &t gfd &1
B DI §IS A TRBR ! S DI
Options :

1. % 30§ Rr e

2. % TR A iy fea

3. ¢ 3|l o iRy fean

4. % 3irEl # foer fean

Question Number : 187 Question Id : 97675532276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frafefad ue ), fau U IR faweat & ¥, 39 fawen &1 997 & 51 fou U geTak & 31 ol Yd9% U § odad Rl g |
Options :

1. ¢ Y 30T IR HAT

2. % GIRI DI IR HRAT

3. % QId P 30 U &1

4. % g R I Hgl

Question Number : 187 Question Id : 97675532276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoferad uy o, fau M0 aR faswedl & 9, 39 faeed &1 904 B3 Sl f3U 7T gt & 312 &1 99y U Y o Bl 5|
30 gg 5T fieg o+

Options :

1. ¢ Y SO TR HIAT

2. % TR B YR HRAT

3. % QId &l U U TG

4. % U8 R I Bl

Question Number : 188 Question Id : 97675532277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f&T 7TQ aTeRr § UG fohT ST dred favH gl o1 =g i |
STRITS T HgH 3R IHT 30 BT H Geid 5 |

Options :

1.,

2. %,
3. % |
4, %



Question Number : 188 Question Id : 97675532277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faQ U a1y & Iua fou o1 a1l favre gl &1 o= difora|
SIS o7 Hig 3R aHT 30 &1 H Tav € |

Options :

1.¥

2. %

2

3. % |
4. % .

Question Number : 189 Question Id : 97675532278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

V! Td O &I’ 59 e | Ife gad] &1 aIed A+ 1 g dl SR Hgl A
Options :

1. % P! A

2. ¢/ bl & §I

3. % gl 18 a8l

4. % QIR & Sfd H

Question Number : 189 Question Id : 97675532278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P! 7 O G’ 59 919 H IS gadT T arddd b BT 8 dl ScUfORTH bl aRT?

Options :




Question Number : 190 Question Id : 97675532279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foreft B3 Wea b1 T A & fore fobt o forg b1 T fowam wiran 82
Options :

1. # faavor

2. * fdzre

3. ¥ DIFD

4. % IufarTH

Question Number : 190 Question Id : 97675532279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fopelt BT et 1 WE XA & for fovw o forg &1 T o wiran &2
Options :

1. % fqavor

2. % (A¢TH

3.V DIYD

4, % JURM

Question Number : 191 Question Id : 97675532280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fe T et o wE o forg Sford Gerek 1 7o S|
Y A gl

Options :

1. % e OR A

2.« 30 RISt 3T gh T

3. % 3T qGll g

4, % AR R UR US-T




Question Number : 191 Question Id : 97675532280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
%QjQW%ﬂﬂ;s’%%Ede TR &1 90 Sifod |
Y AT Gl

Options :

1. % Il R T

2. ¢ (U RATST 3T UHTHT

3. % 3T Iecl gIFT

4, % 3a W UYR YG-T

Question Number : 192 Question Id : 97675532281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofaRad vy H, fRT 10 aR faded! # 9, 39 fased &1 997 X Sl U T gtk & 31 o] Ja9§ U Y e Il & |
T TNt BIEHR g1 H ST

Options :

1. % g9 &1 Ygel gl

2. % U HRAT

3. % fyd o B 3fad TS Sl

4. ¥ GRS

Question Number : 192 Question Id : 97675532281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad ue ), fou U IR fawedl & ¥, 39 fawen &1 7997 & 1 fou U geTak & 31 ol Ya9% U § oJad Rl g |
1% dic] HICHR 1Y | o1

Options :

1. % g9 Bl Udhl gl

2. % IO HRAT




3. % Xy o4 &I 3ed Us ST

4. ¥ GBI

Question Number : 193 Question Id : 97675532282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fu TTu Trsal & TE & forw I Aeifad o1 9g9 Bifv|
3TIR BT T 3T -Te gl

Options :

1. % g Sd-S1d ¥ urd-urd

2. ¢ AR T Wd &1 ) gielm

3. % 0 &I I e, et i ot A=

4. % 3 fadll ¥ 9 =78t Feparar

Question Number : 193 Question Id : 97675532282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu TTu wreat & g & for Sfad Aeifad &1 9o Hifor|
MR &1 Hd 33T Tal aidl

Options :

1. % Y Sd-SId | urd-urd

2. ¢ TAAR BT Wl BT g Bl

3. % I99 &1 3Y i, fie e ol i

4. % A faal & ad 718 Abaar

Question Number : 194 Question Id : 97675532283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad we ), fou 0 aR fawedl & 9, 39 fadmen &1 997 & S fou U geTak & 31 ol Ia9% U I oJad HRal ¢ |
TR & Dlcll A g 7 goll T
Options :




1. + WYIG el dgadl

2. % U gl fudT

3. % P VTR P13 I Tg! Tl
4. % U9 99d R F1 HL A1

Question Number : 194 Question Id : 97675532283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu U IR fawedl & 9, 39 faded o1 9o 3 ot fT 7T geTer & 3 &1 Jd9§ U ¥ oJad Hral g |
TR & Dlell A g 7 goll T

Options :

1. « WY 8! dgordr

2. % T g fudm

3. % HIA TR B3 I el ded|

4. % U 9ad OR H1 HR &1

Question Number : 195 Question Id : 97675532284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifad uy ¥, fau M0 R faswedl & 9, 39 faeed &1 904 B3 Sl f3U 7T gtk & 312 &1 99y *U Y odd Bl 5|
WP WIS [hRIDbRI AN, TR BT IS HIBT

Options :

1. % R o g0 dTol a%q et |

2. ¢ U AIST §RI AT GIR Dl 33T |
3. % IR P UKA DI U Hiol a8
4. % T AN IEH S & |

Question Number : 195 Question Id : 97675532284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ve o, fou U aR fawedt & 9§, 39 fawen &1 997 &3 1 fou U geTak & 31 ol Ya9% U § oJad Rl g |




W DI WIS hRb<l AN, TMER P S HIdT
Options :

1. % SIOTR T gHR dTol ag A §

2. ¢ U AIST §RI AT GIR Dl 3D
3. % TR DI U BT U HiST a1 g |

4. % TH AN 9 S |

Sub-Section Number : 2
Sub-Section Id : 9767551614
Question Shuffling Allowed : Yes

Question Id : 97675532285 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (196 to 200)

TS T T T | TRITRI O STYR WR Ui Uy T 7Y € | eI &1 e9MYdeh Ue aul Ui UY & IR fadbed! & § g faded g1

O ls JaT 30 TR J F1eR Aerad a1 TR § 3ot fRUfS STHTaT 8, 99 Ugel diodr 39 s gom  usdl 71 afe Sue! fufa faepd
Thid FRICH a1 Ygd! dl IUD! oIH-UgaM & AN YIS Tgd oId &, 3R UIS g fardl § @ Al ¥ IUPT Hasiid ol ol & | T8l ga-od
Jgd-ggd fPErar & U # ulkurd g1 ot 8| fisll & g1d & Sugeddl IR 34d Siia- &) b adl (R g1 SiTd! g, adifes Tfd &1 T Uk
T UHTE §HIR 3MTERUI TR TSl 8 | 89 AN U8 99 § YA H U< b U1 BRI ARY Fd 8, STaid gART 7 S1d 3R 82 dvg &1
B R T8I HR- AT BIdT & | FAR HIG UM 3R AR Ugfy $URUes Xgd ¢ | 86 a1 &l [Hg! &1 i & JHH I8d &, ford ot
5 =0 & 91, 39 ¥4 H gId, 918 &M §-1¢, =18 <adT| T AT T Iq1 - gHR o1 §R71 &, ST S1fid T¢ Yohed o &, aifh §H 311 8%
T T faR1e & A Ot TSt 8 1 TR T @Y T 1 T 3R+ §R1°8, S gHRY &1 91 1 SR 7T © a4ifoh T g’ § 9.l 8AR SR
PIg AU 38T § 3R T8 g1 Pls YERIEAT 3|

Sub questions

Question Number : 196 Question Id : 97675532286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
o g & qER S 3Tl 82
Options :

1. % 59 g0 gfied § Y oI B

2. % S BH IS B Id g

3. ¥ 99 89 a1 1) IR ¥ 918 o1 &



4. % Od gH UY &1 3TagHhdl gial

Question Number : 197 Question Id : 97675532287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
UG T &1 =i F1d Bifer|

Options :

1. % fiErar e o
2. % fRErar a1 <
3. % gar i

4. ¥ fHA BT

Question Number : 198 Question Id : 97675532288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g 1 hadT fbg W R Ha g2
Options :

1. % el 6 WR R

2. % Rl B AGE WR

3.¢ il &b A WR

4. % Tl o el O W

Question Number : 199 Question Id : 97675532289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

THTS & AR R GHY Safad o) o1 I 8idl 82
Options :

1. % fIpA gs & JHH

2. ¢ IGBT H 3Ad DHIFd Bidl &

3. % A7E T 9F 3HH Q]

4. % 9g Y 3Td g foaruitg g g




Question Number : 200 Question Id : 97675532290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T A Het S o1 gfd & T ed © I SR 1 /2

Options :

1. % g s b gfI g B

2. % g FH= S FH Eld € dH i R IBd |

3. ¢ BHR Y U & @NT 3R gRFRUFT gAY uapfar / AR aia & SR 24 ¢ |
4. % PR Y UL AP eF SR ST g |

Question Id : 97675532285 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (196 to 200)

T T 0T T B | IR O SYR WR Ui Uy f3T U § | TRI 1 eqHYdes Ue aul Ul Uy & IR faded! & § U8 faded A1

d s AT 30 TR FeR Foh s a1eR TR J S0 RUf ST 8, 09 Ugel! diddl 39 1 g+ § Sl g1 afe 39! fufd foepd
THid PRI T8 Xl al B! TH-UgaH & AN YSTUS Tad ofd &, 3R As 8l fall § $© anTl ¥ 39T Aaeld gl ofidl 8| T8 gd-ad
9gd-Sed sl & U H uRurd g1 J1d1 | 1 s & I1d &t Sugeddl IR 39 Siia- &1 ghadl (AR g1 ot g, Fife Tifa &1 a1 4Rt
T THT §AR SRR R USdl 8 | 89 G U899G H TS § TS S U1 B RY HRd 8, S gHRT I SIAd 3R 8 aRg &l
PR TgUT B A7 BT ¢ | §HR TG SARHTIT 3R gHRY Uafy Suikues I8t 8 1 89 arT et firg ot Afd & THH W&d ©, for ot
R = o 9], 39 U § gTd, T V& §-1¢, 918 ddT| TY AT &1 1Y 7 89K ol §R1 8, St 31 T Yohed & §, i 84 3! &
1 T faRiy & A1 o St 81 IR T AT T W1 &A1 3R Ht §R71 8, ST SHRT 81 10 Bl SR TWd & adifeh Tt g2 & 7 dl §AR S|
PIg AUV 3§ § 3R T8 g1 Pl YeRIEAT B |

Sub questions

Question Number : 196 Question Id : 97675532286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
25 g7 & T e ST g2

Options :

1. % S I QUed A O A § |

2. % GEEHTS B Td gl

3. ¢ S gH AT SR WA TR S ] |




4. % Od gH UY &1 3TagHhdl gial

Question Number : 197 Question Id : 97675532287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
UG T &1 =i F1d Bifer|

Options :

1. % fiErar e o
2. % fRErar a1 <
3. % gar i

4. ¥ fHA BT

Question Number : 198 Question Id : 97675532288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g 1 hadT fbg W R Ha g2
Options :

1. % el 6 WR R

2. % Rl B AGE WR

3.¢ il &b A WR

4. % Tl o el O W

Question Number : 199 Question Id : 97675532289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

THTS & AR R GHY Safad o) o1 I 8idl 82
Options :

1. % fIpA gs & JHH

2. ¢ IGBT H 3Ad DHIFd Bidl &

3. % A7E T 9F 3HH Q]

4. % 9g Y 3Td g foaruitg g g




Question Number : 200 Question Id : 97675532290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T A Het S o1 gfd & T ed © I SR 1 /2

Options :

1. * g9 99 Rt g g B

2. % g FH= S FH Eld € dH i R IBd |

3. ¢ BUR 3T U & @R 3R URAUTT 87 Ui / 89R Ifa & SHR <d g
4. % PR Y AL AR gH S ST 8 |




